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The following table shows the percentage (%) distribution of viewers of JIO TV channel in five
different towns (A, B, C, D and E) alongwith the number of viewers who subscribed the channel
among them in the year 2023. Number of viewers in the town E is 1200. Based on the data in the

table, answer the questions that follow.

Town-wise Details of Channel Viewers
Town|Percentage Distribution of Channel Viewers [Number of Viewers who subscribed for the Channel
LA 2% 440
B 13% 500
C 28%% 280
D |23% 700
E 209%% 360

Note: For each town, number of channel viewers 1s the sum of number of viewers who subscribed
tor the channel and the number of viewers who did not subscribe for the channel.

Sub questions

Question Number : 1 Question Id : 34212312836 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the number of male unsubscribed viewers in Town-D is

200
3

% more than that of female

unsubscribed viewers, then what is the ratio of number of male unsubscribed viewers in Town-D
to the number of unsubscribed viewers in Town-A and Town-C together?

123333
2.25:54
3. 759
4.2:3

Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 34212312837 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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If P is the total number of unsubscribed viewers in Town-B and Town-C together, and Q is the
number of subscribed viewers in Town-E, then Q is % less than P.

1.6

h

(]

. 80

3.60

4.70

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212312838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

325
i

If out of the number of viewers from Town-C, == are female and E of the number of female

viewers are unsubscribed viewers. then the number of unsubscribed male viewers from Town-C
IS.

1. 340

-2

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212312839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the difference between the number of unsubscribed viewers and subscribed viewers,
taking all the towns together?

1.320

(]

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212312840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If P is the total number of unsubscribed viewers in Town- B and Town-C together. and Q is the
number of unsubscribed viewers in town-E, then Q is % of P.

1. 60

]

.70
3. 80

4.75

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312835 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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g aifereT | @8 fafi= 7RI (A, B, ¢, D3R E) H 2023 H 57211 (710) 71 91 971d & G2l &
UTIRId (%) TaaR0T 3R 39 d9d & UTgd aRid| & Y21 G2Ts s o | TR E H a=id! &f J
1200 g | dIfeid § Wed STel & YR WR, 31 U 7TV YUYl & IR SIIU:

T X! P (a0
TR GRd! @1 Ud=d (G0l [o-d & T8® GRd] &I S|
A [12% 130
B 5% 500
C |28% 880
D 5% 700
E 0% 360

feuufl: Ud® TR & forg, Icl o=l B e 39 I & D GRD! DI WA 3R I
GRId] &I GBI 1N g Sl 39 d-d & g ol g |

Sub questions

Question Number : 1 Question Id : 34212312836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If¢ TR D H T8 TY (D] BT I, S AED el €. 1 Al a=iep! bl IRATH 22,

4 ¢, S U8 -Tel 6. Al R D H UEH A gHaTd U G| & W &I TR A 3R TR
¢ H e ¢! & e 9 giHdTd GXd! Bl U1 U 3urd fhd-1 g2

L2553

2.25:54

3. 759

4.2:3
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212312837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gf¢ IR B 3R 'R ¢ DI {did 981 & Ud cRidh] &l o Y= P ¢ IR TR EH U8H
CUHI DI YBIQe, dPUQ % PHGI

1.6

L1

I

. 80
3.60

4.70
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212312838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG TR - ¢ & DT DI 4B H 222 AfgelT ¢ SR Afgell ¥l 1 g HI L a g Sl

1.
!

8D Al g, dl R - ¢ Y 8D - 9 GUDH | B U] g

1. 340

B

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212312839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gt TRl B THTER TIgd 1 94 aRid! 3R Iied aUD| & Wl & did BT 3R fhd-r g2

1.320

2

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212312840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g AR - B 3R TR - ¢ &l @ d#ﬁﬂ[ﬁd}qﬂlﬂcﬂﬁ qﬂm“fﬁg_m TP g 3R AN -
E U UEH A §-dTd adh] HI WA Q g, A P HIQ %G|

1. 60

I

.79
3. 80

4. 75
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123505
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212312841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The impaired memory for events occuring before the onset of amnesia is called as:-

1. Phonological loop
2. Retrograde amnesia
3. Anterograde amnesia

4. Visuospatial sketchpad

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212312841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wiy (THARADN & RY g4 U Yd "fcd g1 & fofu &t gdl ¥fd Hedidl 6 -
1. WS

2. Uy Wiy (TR

3. TGN Wiaag (AR
4. faSleaRme Wats

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212312842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What of the following aspects does not pertain to delibrate practice of learners?

1. The task is too easy or too hard

t2

. The learner is given informative feed back about his/her performance
3. The learner has adequate chances to repeat the task

4. The learner has the opportunity to correct his/her errors
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Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212312842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad @ ¥ SH-41 ugq el & giaaria snarg # 981 o g2
1. Ig B yaTd S 3Hydl 9gd Hid g |
2. TRt i 3P e & IR H adS Bisdd [Gg1 T g
3. Tremalf & U 1 Bl QIR & Wit SR gl
4. TR7emdt & urg ool Ffeal &l g8 HIH & HaE T

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212312843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI LISTII
Online Softwares/Tools Application
A | Trello 1. | Managing and analvzing social media campaigns
; Managing and recording, fun built-in camera recording add effects and
B. |Hootsuite II. ;
share in the groups
GitHub : ] .
C. i II1. | Managing group projects and tasks
D. |Flipgrid IV. | Managing and writing coding assignments

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-1
2. A-III, B-1V, C-1II, D-1
3. Al B-1, C-IV, D-1I

4. A-1, B-11, C-III, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212312843 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I 1

(THATET iy / 231%
A |femt L | i i figH! & vdyd ud faRey &A1
R | e 51 SR RSl @1 e d RS aem ok 5
3! Bl Slle®m? 34 g H Il &l
fireed Taraed 11 |99 ufareHist| ud &l ol gag= @l
D. |Teufirs V. | BIfET FoaeEl &1 ey ud oa-
4T faU U fad el § 9 981 3R &l 994 Diflu:

1. A-IV, B-111, C-1I, D-1

I

3. A-III, B-1, C-1V, D-I1

4. A-I, B-II, C-IIL, D-1IV

Options :
1.1
2.2
3.3
4.4

.A-IIL B-1V, C-11, D-1

Question Number : 9 Question Id : 34212312844 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following channels of Swayam Prabha are under IGNOU, New Delhi?

A. Channel 4
B. Channel 7
C. Channel 15
D. Channel 12
E. Channel 20

Choose the correct answer from the options given below:

1. A and E only

b2

.C and D only
3.B. C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212312844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdfRad 9 9 syl & 1Y d4d =3 [doedl fud 29 & sidiid g2
A. 00 4
B. d9d 7
C. 994 15
D. 994 12
E. d4d 20

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. hdcd A 3R E
2.Hdd C 3R D
3.Hdd B, C 3RE
4. HId A, B 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 10 Question Id : 34212312845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can be used as LMS to create and manage course content?

A. Moodle
B. Zoom

C. Edmodo
D. Canvas
E. Strawpoll

Choose the correct answer from the options given below:

1. B, D and E only

B

A, Cand D only

LFE]

.B, C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212312845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fraferad @ ¥ fo-a1 urea=gl &f favgasd & Yo 3R Ut & foll Ud. T, 0q. & = 1
T fhdl &I Hehal g2

A Had
B. 9H
C. USHIS]
D. Hd1g
E. &UId

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. Hdd B, D 3R E

2. HAA A, C 3R D
3. Hdd B, C 3ARE
4. %dd A, B 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212312846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, which of the following percentage of
similarity in the thesis would result in the cancellation of a student's registration in the
programme he/she is registered in?

1. 42%

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212312846 Question Type : MCQ Option Shuffling : No
https://g28.digialm.com/CAE/viewHtmIPDFAction.action 14/191
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Correct Marks : 2 Wrong Marks : 0

Yifed 9’ & Ydiy d fayfqeerd sFeM smanT (goiid) fafFad 2018 & YR 2y gdy o
fgfeRad ® U fod ufd=rd gHHEd Urs S W fdbdl B &1 Uoiihrul 39 UiUH 9 IE ¢
ST, S U 98 Usiied o2

1. 42%

-2
A
T
=}
a\

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212312847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following types of sampling is likely to have least bias?

1. Snowball sampling

f-2

. Simple random sampling
3. Convenience sampling

4. Purposive sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212312847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafafad 7 9 &9 YR & Ufdegd # AdH gaiig g ST JH1aHT gidl ©:
- hgd Ufd=a (@idrd Uid=a)

YR gTefyd Ufd=d

- gfayrsH s ufdagd

4. QU ufdaa-

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 13 Question Id : 34212312848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements regarding survey research.

A. A closed ended question contains a set of answers that a respondent chooses

B. Self-Deception Positivity is a from of social desirability bias

C. Impression Management is a form of social desirability bias

D. In key informant sampling, a researcher uses a member of the population of interest to
actively recruit others

Choose the correct answer from the options given below:

l.A. Band C only
2.B. C and D only
3. A.Band D only

4. A. Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212312848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YA&fuT YU & Gdy T Tl YAl Hl UgdH HIfe:

A. 3 TR a1 Uy | SRl &1 U< gidl g o SR a-aral g1 g |

B. 3TH-dd4 YHRIHAD I, YT dig-1adl Iaiig 1 FJ 3l

C. YHTd UseH, Yol qidg-1gdl Jaiig &1 &4 ¢

D. YA Y Yfcragd 1 Uh Ul Eid B S8 & U Yo ST ST Gl
DI Yl B & [T HIAT 8|

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1. Had A, B AR C
2. $HIAB. C 3R D
3. $had A, B3R D
4. Had A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212312849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following statistical measures in increasing order

A 37ih percentile
B. first quartile
C. median

D. third decile

Choose the correct answer from the options given below:
1 B2, B
2.B.D.A.C
3B, C.AD

4.C,B, D, A

Options :
1.1
2.2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 17/191
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3.3
4.4

Question Number : 14 Question Id : 34212312849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeRad OiRers 1 AUl &1 d6d $H H ogaid Dif|

A. 37 91 IdHS
B. Ugdl Igdd
C. HIfED]

D. AR GRHS

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.A,B,C,D

2.B,D,A,C
3.B,C;A, D

4.C, B, D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212312850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT
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List I List IT
(n=number of trials p=probability of success)|(Variance of Binomial Distribution)
A ln=7.p=03 L |144
B |n=3p=04 I |2.00
C. |[n=8p=03 Im. 11.20
D |n=6p=06 V. | 147

Choose the correct answer from the options given below:

1. A-1, B-II, C-IIL, D-IV

2. A-II B-III, C-IV, D-1

3. AL B-1V, C-I, D-1I

4. A-IV, B-1I1, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212312850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

.. . ik

o= T 3 Ry | (50 [0 BT TR

A |n=7p=03 I 144
B. |n=5p=04 II. 12.00
C. In=8.p=053 I | 1.20
D. |n=6.p=05 IV, [ 1.47

il [ -

A Teu TU [dd el | 9 gt 3R &1 994 HITU:

1. A-I, B-II, C-III, D-IV
2. A-11, B-1II, C-1V, D-1
3. A-IIT, B-IV, C-I, D-II

4. A-IV, B-III. C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212312851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the post-information age, information is highly.

|. Homogeneous

t2

. Communitarian
3. Personalised

4. Impersonal

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212312851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR - G g 1 YA A
R EIRIEN

HEEE §
4. 3dUfad® o

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 17 Question Id : 34212312852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an information society, even nuclear families have the characteristic of technological

1. Separation

t-2

. Mediation
3. Constriction

4. Passivity

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212312852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g%%am&ninﬁﬂwﬁmwﬁa@raﬁiﬁﬁaﬁfﬁaﬂmm GCAREELG!
|

1. G
2. AR

3. P
4. HHUTA

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212312853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A hot medium has the features of:

A. Pre-supposition of interaction

B. Providing large amounts of information
C. Little effort needed for interpretation
D. Less scope for participation

E. Immediate feedback

Choose the correct answer from the options given below:

1. A B, Conly

[

. C, D, Eonly
3.A,C,Donly

4.B,C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212312853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FrafaRad mrem o1 Fefafad ot gid 8

A. TRTR® T 1 qaigaH

B. 931 A1 H AT 3UCT DRG]

C. ARAT (AT B & [ BT T 64 DI ahdl gldl ©
D. YTl & folt o1 egw

E. dichIidd Uidgfe

i fu U fad el § 9 @81 IR &l 994 Diflu;
. HAAd A, B, C

2. Bdd C.D.E
3. HAAd A, C.D
4. BAd B. C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212312854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological sequence of the following communication devices:

A. Blu-ray Disc

B. Universal media Disc
C. Digital Compact Disc
D.Hi8

E. Digital Audio Tape

Choose the correct answer from the options given below:
L.ED C B A
2D:CRAE
3B AED

4.B,AE D, C

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 19 Question Id : 34212312854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YaR U 9 FafaRad Ul & dicdd & Yol hd &l g S|

A X 3w
B. gi-qyd Hifsar fewn

+id fGu T fasedl § 9 @@t 39 &1 994 Hifeu:
I.E.D,C.B. A
2.D,C,B,A,E
3.C,B.AE,D
4.B,AE,D,C
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 34212312855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Medium) (Characteristic)
A |Radio I. | Asvnchronous
B. |Primt II. |High intensity of information
C. |Hot medium III. |Interactivity
D |Internet IV | Only Acoustic medium

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212312855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I
= | &
A | L |sgsoifts
B. |qzU II. | =T &l 3= Mol
C. | emhHE® g | 1L | IRERS haradd
D. |Fee V. |dae @f-ie arem

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
I. A-I, B-II, C-IIL, D-IV
2. A-IL B-IIL, C-IV, D-I
3. AL B-IV, C-I, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212312856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a fraction is multiplied by itself and then divided by the reciprocal of the same fraction, the
result obtained is 492 Find the fraction.

n
l.3—

Lad

ta

W | —

i | b

4.41
3
Options :
1.1

2.2

3.3
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4.4

Question Number : 21 Question Id : 34212312856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfe fpd fird o1 34! 3 Y 707 {61 S 3R 34 916 390! 341 & Hohd Y fauord
ﬁmwa“rwwﬁwmm%@maamﬂmﬁml

A
1.3=

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212312857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of questions mark (?) in the series given below.
4, 10, 20, 34,52, 74,7

1. 98

I

102
3.97

4. 100

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212312857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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a1 1S gaar § Uy g & RIF W SR 1 Si-dlel Y J1d i |

4, 10, 20, 34,52, 74,7

1. 98

2

102

3.97

4. 100
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212312858 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Statement) (Result)
A | Average of the squares of first 10 natural numbers| 1. |13
B. | Average of first 5 multiplies of 5 II. |45
C. | Average of first 25 natural numbers III. | 38.5
D. | Average of cubes of first 3 natural numbers IV. |15

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-1l, B-1II, C-1V, D-1
3. A-1IV, B-1, C-II, D-III

4. A-III, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212312858 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I

o o,

YA 10 Widids Seeff dar o1 afiad| 1|13
5 @ TYH 5 0TS Bl 34d I |45
UYH 25 Wi RT3 BT Sed I |385
Ty 5 Uihfdd deafl & u @1 gd | IV |15

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

2. A-II, B-IIL, C-IV, D-1
3. A-IV, B-1, C-II, D-III

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212312859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain code language:

*“Kashmiri Cuisines are good” is coded as: * KI CI FI GI”

*“You like Kashmiri Cuisines™ is coded as: “AI LI KI CI”

“Indians like Punjabi Cuisines™ is coded as: "MI LI BI CI"

“Punjabi Cuisines are best™ is coded as: "BI CI FI TI"

How the words *you’, ‘Indians’ and' best' are coded in this language.

1. LI, KI and Al

f2

.KI, MI and CI

3.AI MIand TI

4. AL, MI and CI

Options :
1.1
2.2
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3.3
4.4

Question Number : 24 Question Id : 34212312859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fhd e YW T:-

“Kashmiri cuisines are good” @I KI CIFI GI b ¥ H CTEFATRIREIR]) S
“you like Kashmiri Cuisines” @I AI LIKI CI® U H dddg ERIEIGIE
“Indians like Punjabi Cuisines” MILI BI CIh U I podg bl EIGI
“Punjabi Cuisines are best™ BI CI FI TI &Y Pldeg ERIEIGIE

o4 HTyT H ‘you', ‘Indians’ AR “best” Dl Y UHR Pldg ICRRIE| %i’
A1d U TIQ fddpedl H ¥ #5T SR B 79 DIfSIE:

1. LL KI 3R Al

2. KL MI 3R cI
3. AL MI 3R TI

4. AL MI 3R CI

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212312860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are some Cows and Ducks in a park. The total number of heads of Cows and Ducks
together is 60. However, the total number legs of the cows and ducks together is 180. Find the

number of cows and ducks in the park, respectively.

1. 30, 30

2

32,28

3.28 32

4. 24, 36
Options :
1.1
2.2
3.3
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4.4

Question Number : 25 Question Id : 34212312860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uh Uid H $& Y 3R S §. 71 3R §wal & (R &1 ol feidh: W& 60 g1 qyid,
T 3R dodl D1 Dol THThR T 1 AT 180 1 UTdh H 71T 3R Seival &bl TeT hus:
J1d DIfTU|

L.

[

4.

30,

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212312861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

30

g28.digialm.com/CAE/viewHtmIPDFAction.action

*This piece of Chalk has mass, therefore, the atoms that compose this piece of chalk have mass.”
Which of the following options is true of the above argument?

1. Fallacy of composition 1s committed here

2. Slippery slope is nvolved here

3. Hasty Generalization is committed here

4. It 1s a non-fallacious argument

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212312861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i (AN & TH hs U ST g, ST dlh & 39 Sho BT AT 6 dle] TRHTILS]
o ot goqa gidl & Suddd gfdd & Y&y ¥ Fafafad @ 9 s fde e g g2

1. I8l Uefd Siv fhar TR 5|
2. gel Thyed gad ¢a Hdfigd g1
3. gg G=Rd IrAISHI 6l T g |

4. 98 U TR - Ay gfad ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212312862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

A. A valid argument may have false premises and a true conclusion
B. An invalid argument may have false premises and a true conclusion
C. An invalid argument may have true premises and a false conclusion
D. A valid argument may have true premises and a false conclusion

Choose the correct answer from the options given below:

1.AB,C.D

t-2

. B and C only
3. Aand D only

4. A. B and C only
Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212312862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafRad 7 ¥ ®H-0 &Y Td o2

A. T 94 g § i 3R 3R U U by gl Thal g
B. U 3{d% gfqd O e R r 3R Uh 9 5y gl Ghdi gl
C. U 33 gfad T I ATUTRGR 37R Ueh {71247 F5h gl Yhdl ¢ |
D. Ut 94 Gfdd ¥ Y YR 3R U {7721 F5H gl Ihdl gl

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.A,B,C,D

) FHIAB AR C
3. HddA AR D
4. Hadd A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212312863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing denotation.

A. Physics

B. Natural Sciences
C. Sciences

D. Nuclear Physics

Choose the correct answer from the options given below:
1.C.B,A D
2.B.C,A.D
3.D.AB.C

4.B.C.D A
Options :
1.1
2.2
3.3
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4.4

Question Number : 28 Question Id : 34212312863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAeIRad & ged 9dd & HH H FaRRUd DIfI:
A, HIfd® IR
B. UIdidd fa3
c. fagm
D. AIHS I HITdH AR
< fSu U fadeul § 4 @87 IR BT 90 DIOIT:

1. C.BA D

[

B.C.AD

3:PD.AB;C

4.B.C.D. A

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212312864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
{Type of informal Fallacy) (Reason)
A |False cause 1. |Relevance
B. | Appeal to Emotion II. | Ambiguity
C. | Complex Question III. | Defective Induction
D. |Fallacy of Composition | IV, |Presumption

Choose the correct answer from the options given below:
1. A-IV. B-II, C-1I1, D-I
2. A-IIL B-1, C-IV, D-1I
3. A-IIL, B-IV, C-1, D-II

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212312864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

(&Hﬁﬂﬁﬁ:ﬁ;ﬁaﬂm (ﬂ%
A |fa eRo 1 |l
B. | 914G 3FI8 . | 3Rgpdl
c. |sfeamy 1L | GIeqUi 3
D. |Wefd g IV. | qaigaH

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
1. A-IV, B-IL, C-III, D-I
2. AL B-1, C-IV, D-II
3. AL B-IV, C-I, D-II

4. A-I1, B-1, C-1IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212312865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic which of the following statements is fallacious because the middle
term instead of proving the existence of the major term in the minor term., it proves its non-
existence therein.

1. Sound is eternal because it is produced

]

. The hill has fire because it 15 knowable
3. Sound 1s eternal because it 1s audible

4. All things are non-eternal because thev are knowable

Options :
1.1
2.2
3.3
4.4
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Question Number : 30 Question Id : 34212312865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A A & YR FEfaRad § ¥ fdd Sy o dhaly ¢ difd T Ug, 1o Ue § gre ug &
3 Dl lfdd DI & Iol1d, T8 IUH 34D AT ci-dl I Tlied Hdl g

L. €17 21y ¢ 1 g Idiiad &l Sl B
2. UgTSI H 3N § i 98 34 B

3. & A1 g D T8 4 ¢

4. 9t - FEIE TR-=NYd € Fifh d I ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212312866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger. short for keystroke logger, is a type of that monitors and records what
you type on your computer or mobile phone.

1. Worm

2

. Spyware
3. Virus

4. Trojan Horse

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212312866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@I - ¥l AR & {elU Tigd Usq, Dl - AR Th UDHR DI © Sl 3MUd gRT 30
$HUIeR YT HIEd Bl TR 2130 &I ol Te! il &1 TR Hd1 ¢ 9 39 Rdbre gl

L. drH

2. TR
3. digxd
4. TIoH gIY

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212312867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched?

1. XML- Extensible Markup Language

t-2

. WWW- World Wide Web
3. VLSI- Very Large Scale Integration

4. SMS- Short Message Software

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212312867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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uRquif 9 34 fa¥dR &1 % # @ D181 g gAferd 181 €2
. U A U - TeRie st AT 31 cfiast

3% S S - dcs dI2s dd

1 T T 37 - 48 arSl Whel SCUTH

4. 7Y TH UY - 1C A HIEdTR

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 33 Question Id : 34212312868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of ICT terms A-D that correctly fills the blanks in the following paragraph:
is permanent memory that is used to store instructions that are needed to start the

computer. is fast temporary memory that is used to store data and applications that are

currently in use. carries out processing and turns data into information. The

1s used to plug all other components into the computer system.

A. Motherboard
B. RAM
C.CPU
D. ROM

Choose the correct answer from the options given below:
1D B A C
2.AD,C.B
3.C,A.B.D

4.D,B,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212312868 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

313 4l &1 Uel A-D & 39 HH & UgdH ST Sl (9 T2 & Rad R 1 Ugl YR 4R
_ 2t gidl g ot yanT 9 el & W%WWW%W
DU Bl HRY T & [0 HEAWHATgdigl 3T Wi il g ford
3 STeT d TN BT u—erﬁrmﬁ?mam%‘ﬁﬂﬁaﬁﬂﬁﬁ CRIEIREEEE
JhH0 63l ¢ AR S1el DI Y1 § dad adl B &1 UG 30 gt
HCHI Bl HWR YoITell § Siis & foe fbar S g

A. HERdlS

B. 3R TUH
c. g g

D. 3R 3 TH
A fqu U fameul § 9 98T 3R 1 994 DI

1.D.B.A,C

2.A.D,C,B
3.C,A,B,D

4.D.B.C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212312869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following software titles are examples of operating system?

A. MS-Word

B. Linux

C. MS-PowerPoint
D. Adobe Photoshop
E. Android

Choose the correct answer from the options given below:

I.A. Cand D only
2.A.B.CandD only
3.B and E only

4. B, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212312869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

79 U ¥ 1Y 9ieda? i UdIa- YUl & 3alg 0l g2

A UATYdS
B. felHag

C. UH Y UTdR W@ige
D. US4 Hhiel2y

E. U39S
Hid fqu U fddetl #§ 9 Fg1 IR DI 949 iU
1.hdd A, C 3R D
2. Hdd A, B, C 3R D
3. Hdd B AR E
4. $dd B, D3R E

Options :
1.1
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2.2
3.3
4.4

Question Number : 35 Question Id : 34212312870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI
LISTII
E omipnter {(Description)
Network) P
A | Flat Network I. |Describes today's worldwide connection of networks
Describes a network that lies completely inside a trusted area of a network
B. |Extranet I . : ) i =i
and 1s under the security control of system and network administrators
o | i m Describes a network that avoids packet-looping issues, through an architecture
that does not have layers
. |Describes a network that is an extension of a selected portion of a company's
D |Internet vV N
Intranet to external partners

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. A-IIT, B-TIV, C-I1, D-I
3. AL B-1, C-IIT, D-IV

4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212312870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

a1 gt o
(PUEX AeTH) (ferarom)
A |Uce dcad I |3 & fayerdt Sead & Saie &1 gui- ddl 8l

- U Acgd &1 9= BT & ol Quidar Aead & fausd 87 & iz 3R gomeh
& [dige U g Yead weres! & e Raa g erar 21

c |e=re - ﬂﬁﬁeaai?%alﬂﬁ Bl § Sl URde - HeeT & Aread ¥ Udhe-qfth1 qel 1

= | @ UY Jeqd &1 9Uf- BT § &l P & 52 & Tafd 32 $1 9l
JEESE | yrfieRi &1 Suaw gld 8|

A f6u U A edl § U Jot IR 1 I994 HIIU;

1. A-IV, B-1II, C-I, D-II

B

. A-IIL, B-IV, C-II, D-1
3. A-IL, B-L, C-IIL, D-IV

4. A-III, B-1V, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212312871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is known as the heart of sewage treatment?

l. Primary treatment

t-2

. Secondary treatment
3. Tertiary treatment

4. Advanced treatment
Options :
1.1
2.2
3.3
4.4
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Question Number : 36 Question Id : 34212312871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad o O {64 U &1 STaad e (a9 dietie) & g6d & U 4 \HI Sidl g2
. UTY Qe

2. fgdias® eH
3. Al e

4. 39d eE

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212312872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about class I and class II ozone depleting substances?

A. Ozone depleting potential of class-I substances are far more than class II
B. Ozone depleting potential of class II substances are far more than class I
C. All chlorofluoro carbons belong to class IT ozone depleting substances
D. HCFC-21 belongs to class IT ozone depleting substance

E. Class-I contains fully halogenated gases

Choose the correct answer from the options given below:

1. A. D and E only
2.B, C and E only
3.A.Cand D only

4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212312872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7% 7 U & 971 Ud 11 3TN &fividh Jedl & aR H 9 82

A. T-1 Tcdl BT IS &ivres U1 d7-11 B Joi-1 § 9gd 31fe® o
B. T7-11 dcdl D1 SIS &0 YA 97i-1 b1 gof-T1 § dgd 319 3
c. G FARIGRI HIe a¥-11 3l i dd 9 Yalferd gid g1

D. U 9 UG Tl - 21 T9.11 357 v ded U Yafed g

E. 9.1 5 quid: gaiioHcs T gIdi |

i feu T fahedl § 9 a1 IR B 99 DIIT;
|.$ddA.DUFE

2. HAdB.CTUdE
3. FHdAA.CUE D
4. HAAC. DU E

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212312873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of following drinking water treatment processes from initial to
final?

A. Filtration

B. Disinfection

C. Gravity settlement of large particles
D. Flocculation

Choose the correct answer from the options given below:
1.ABCD
2.8 B, B.C
3.C.D.A.B

4.C,D,B,A

Options :
1.1
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2.2
3.3
4.4

Question Number : 38 Question Id : 34212312873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad b4 & arl &1 UR™ ¥ 3id d& ffHfchar Ufthal &1 Yg! H 91 g

A. e (hedeH)

B. ﬁ?ﬂﬂﬁfifﬁ{%ﬂmﬂ]

C.d9 Il DI R=od AU

D. 3UH (TFAIRIIRH)
HId feu U f9hedl § 9 8T IR &1 994 DI

1. A, B, C.D

2.8, BB
32C.D.AB

4.C,D.B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212312874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Doha amendment 1s an amendment to.

1. Montreal Protocol
2. Kyoto Protocol
3. Stockholm Convention

4. Rio Summit
Options :
1.1
2.2
3.3
4.4
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Question Number : 39 Question Id : 34212312874 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
<IgT YRMEH, SHHT U Y2 ©:
1. Aiiegd Uieidid
2. 1T Uieldid
3. Widhgied grleH
4. T R v e

Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212312875 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
{Sustainable Development Goal (SDG) (SDG No)
A | Clinate action I |sDG 12
B. |Life on Land II. |SDG 13
C. |Fesponsible consumption and production | III. | 5DG 14
D. |Life below water IV. | SDG 15

Choose the correct answer from the options given below:

1. A-1, B-III, C-II, D-IV

2. A-III, B-1, C-1V, D-II

3. AL B-1IV, C-III, D-1

4. A-1I, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4
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Question Number : 40 Question Id : 34212312875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e BHifoy

I I
(Umﬁuﬁm?ir&m@ﬁhﬁ) mﬂé@m
A |Saarg febar I |THshl 12
B. (YA R EET 11 (Thaisl 13
C. | 3Rard SUHRT Ud 316 | 111 |UgSiell 14
D. | 5@ & i Sflaq IV, |TEEt 15

i feu 71U fad el § 9 T8t STk &1 994 DIfIT:
1. A-I, B-IIL, C-II, D-IV
2. AL B-1, C-IV, D-II
3. A-IL B-IV, C-IIL, D-I

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212312876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The New Education Policy, 2020 envisages making all learners:

1. Social volunteers

t2

. Efficient administrators
3. True global citizens

4. Spiritual persons

Options :
1.1
2.2
3.3
4.4
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Question Number : 41 Question Id : 34212312876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s e =ifd, 2020 ¥ Wt fRreniegl of Hgfearad 94 & URb - 1 7S ¢
1. GHEISS WaUad (dTeifedr)

2. B UMD
3. AR(dD di%d ARG
4. SeTfdS Afad

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212312877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kanya Mahavidyalava. an Arva Samaji School, was established in 1896 by:

1. Bhai Veer Singh

t-2

. Agva Kaur
3. Bhai Takht Singh

4. Lala Devraj

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212312877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST el deTerd AHS AT Whdl & =TG- Y 1896 H HHTRId SAfdd gRI 61 T8 4i:
HIS dR g

SR DR

LTS e g

4, STl GaRTSl

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 43 Question Id : 34212312878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The major recommendations of the Radhakrishnan Commission are:

A. Transfer of urban universities to rural areas

B. Setting up of rural universities

C. Development of research in agriculture, commerce, law, science and technology
D. Making English language as the medium of instruction at all levels of teaching
E. Focus on student's Welfare

Choose the correct answer from the options given below:

1. A, Bonly
2.B,C,Donly
3.C.D.E only

4.B, C, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212312878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RIS SR Bl T SR &

A. 91831 fayfaemerl &1 urHior &t H IR

B. UTHIUT gy faereral &1 9|

C. Pfty, aIfrsy, i, fag SR Ureiffe! & SryH &1 [ |
D. &1 & gyt TRl U 3iUSH HI9T &1 e &1 H1eaH 491
E. B & &l R &H digd S|

- feu U faded! ¥ FpT IR B 90 HIST:
1. ®dd A, B
2. $HddB. C.D
3.$HddC. D, E
4. HIAB. C. E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212312879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Ancient Texts in chronological order.

A. Rig Veda

B. Lilavati

C. Aryabhativa
D. Arthasastra

Choose the correct answer from the options given below:

1. A,C,D,B

f2

A DC. B
3.B.C,;D, A

4.A,B,D,C

Options :
1.1
2.2
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3.3
4.4

Question Number : 44 Question Id : 34212312879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafead U= 94 &1 SIddhd & 3R Haid il
A PG
B. dicirddl
C. MUY
D. YRR

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1. A,C,D,B

I

A DC. B
3.B,C,D, A

4.A,B,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212312880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Authors Works
A |Pingal [. |Lilavati
B. |Panini II. |Chhandasastra
C. | Arvabhatta I11. | Astadhyayi
D. |Bhaskaracharya | IV. | Aryabhativa

Choose the correct answer from the options given below:
1. A-II. B-1V, C-II1, D-I
2. A-IIL, B-IL C-IV, D-1
3. AL B-IIL, C-IV, D-I

4. A-1, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212312880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
1 g

A |0 L |<fiemadt
B. |qifort II. |@erIRd
C |amug 11 | 3pTeardt
D. |umREE | IV |3yl

1 feu 7T fadh el § 9 T8T IR &1 79 DIfIT;
1. A-IL B-IV, C-IIL, D-I
2. AL B-IL, C-IV, D-I
3. AL B C-IV, D-I

4. A-1, B-III, C-1IV, D-II

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123506
Question Shuffling Allowed : No

Question Id : 34212312881 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

A famine in China from 1958 to 1960 estimated to have killed about twenty-five million people.
The reason why that’s called a political crime-an ideological crime-which was discussed in most
detail by Amartya Sen: it’s part of the work for which he won the Nobel Prize. Sen is an
economist who treated this as an ideological crime for food reasons. He said it wasn’t a matter of
intent: they didn’t intend to kill anybody. It’s just that the ideological instructions were such that
it happened. It was a totalitarian state where no information about what was happening ever got
back to the center. They couldn’t take any action because that’s what happens in a totalitarian
state. So it was a reflection of the totalitarian instructions, a huge massacre that wasn’t intended.
They didn’t intend to kill twenty-five million people, but it was still a major massacre, and it’s
correct to call it one of the major atrocities of the twentieth century, and the worst single
component of the crimes of Communism.

Sub questions
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Question Number : 46 Question Id : 34212312882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What period did the famine in China, described in the passage, occur?

1. 1945 to 1948

I

. 1958 to 1960
3. 1965 to 1968

4. 1972 to 1975
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212312883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage, how many people are estimated to have died in the famine in China?

1. 15 mullion

[

. 25 million
3. 35 million

4. 45 million
Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212312884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

who discussed the famine in detail and considered it an ideological crime?
1. Karl Marx
2. Amartya Sen
3. Noam Chomsky

4. T. S Eliot
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Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212312885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage. what was the main reason for which the famine occurred in the
totalitarian state?

1. Intentional government polices

I

. Unpredictable natural disasters
3. Foreign interventions

4. Lack of information reaching the central authorities

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212312886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does the passage classify the famine in terms of twentieth-century atrocities?

1. A deliberate genocide

f-2

. A minor event
3. an unavoidable disaster

4. One of the major atrocities

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312881 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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frrafifEa e &1 wryde e ok 39% ae i3 U uat & 3w difvte:

ay 1958 T 1960 A 914 H TS giel T T 25 Taferad €l & IR S &1 34 fdar a1
¢ 1 34 HRUI Y TH AeHlidd URY — Uh ddiRd WY el T ¢, D! 3Fd 4 5
gafftre fawgd o=l 31, T8 301 39 Bid &I YT 8, Forgd o1y Il Fidd IR siar| I
T YRl ¢, TS5 J9fad BRI Y 38 Udh ddIid 3Ry & =9 H AF1| 35iH $el fh
g 1gd & Al g1 4T: d fhdl &l ARAT 981 digd 41 g hdd a1 ¢ fb dd1iey J=1u
24 g ®l Al fb Tg gl /1| =i U GdgAIdD Iy U1, gl il 9fed gl Xl Ul, 3Hd! Yol
<18 Gl db g1 Ugd el 411 d IS BRAls gl B b Hifdh U Gdqdicdds IAd H U]
gIdl o1 29I, I8 Jaudids Y13l &l ufdfd g, g U d3] Y8R U, forgd Ui
SRIGT 8T AT 3ADT 330aT 25 Al arff &1 IR S1a- &1 el o1, iR +f 78 U uga 2y
RYUGR U1, 3R Y &Yl Adlsd] & YIT HAERI H U U, 3R YAl & W1 &1 Uh
dGR UZh Dol Ugl ol

Sub questions

Question Number : 46 Question Id : 34212312882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sugdd T aftid <19 gftfer g safy o afed gamym
1. 1945 T 1948

1958 F 1960

[

3. 1965 U 1968

4.1972 ¥ 1975

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212312883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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UGS T & SR = § U8 gftlel d fba divTl & TR S+ &1 a7 fdvan man g2
1. 15 fAfed

-2
-2
A

4. 45 THfegT

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212312884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fope dH § US gitiel B faxgd ol 3t 3R 34 U ddRed 3URTe HHED
1. Tl Ty
2. 3
3. [T R

4. <1, 9. 3feTe

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212312885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SUYdd T & IR Y 8 SR Y Ydaqdidid ol H gie IsT U
G WRBR Hifqgt

. 3YATFHT UIp T SMue
fac=l gwem
4. D=1 MBIl T YaT Uga- BT 2fH1d

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 50 Question Id : 34212312886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SUad el A4 Tl & AHAER! & Y H gfifel & aiffpd dHed g2
. S-S a1 T/ U RUGR
2. U HH Hel
3. U® 3uivgr fauar
4. U9 AR 4 Y U

Options :

1.1

2.2

3.3

4.4

Forensic Science

Section Id : 342123171
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123507
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212312887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which substance is present in automotive clearcoats that counteract the effects of sun damage.

1. Additives

t2

. Pigment
3. Binders

4. Solvent
Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212312887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

M@ﬂ%%afcmqam“lw 4 &< 91 g7 IUTRYd gIdl g Il UR &ifd & guTdl iR ufddd foba
Rl

L. AT Gl
2. qUid 5
3. §YTPRI A
4. faama® g

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212312888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A coating on all photographic films and papers, consisting of light sensitive silver salts in a
gelatin medium. is called

l. Emulsion
2. Display exhibit
3. Filter

4. Photographic negative

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212312888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fSTeifes Arerd | UdhT-ddgl Ioid aaull § [T U oy ol 9yt BieRithe (el 3R uFi
R IUTRYd gIdl 8. 1 Hedidl o

1. QHRIH (UI4d)

> foud ueEl
3. F¥ich

4. BIeHIfthe 411fdg
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212312889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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After cessation of somatic death, tissues and cells survive for a varying period depending upon:

1. Their CO; requirement

[

. Their water content

L

. Their 0, requirement

4. Their WBC counts

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212312889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DID TG b (a0 & TUI SHdd R HIRASY (9 W FH $Id g Uh IRad-1g 2afd &
e IReiad Tl o

1. 3THI cO, Bl TGP
2. 3ID1 oI DT AR

3. 39P1 0, DINEGH

4. FTD! Sega ! T

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212312890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the term applied to the irregular thickening of strokes which is formed when the writing
slows down or stops whilst the writer takes stock of the position?

1. Shading
2. Pen pause
3. Hesitation

4. Hiatus
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212312890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LI Dl T UM dl & et Uy dd WUse (WIRUING) &1 8. Wil fdb dd gidl 3, o
TRGH O 4l {5 gl Sl § Yl 3 oIl §. old dd (& o YT P ATl Hdl g2

1. S

2. had fdyH

3. Hdbig

4. 3[R (hH HI)
Options :
1.1
2.2

3.3
4.4

Question Number : 55 Question Id : 34212312891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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While collecting maggot samples for further examination, is preferably placed directly in acetic
acid but alternately one can use:

. Chloroform
2. Ethyl alcohol
3. Hot water

4. Cold water

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212312891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S TRiert & feld HiTe SHed & U AT &R & UHA 35 duiddydd Yie udifed spa |
3T ST 8, TR Dl Al debictds U U 9 BT 1 01T R Ghall 6:

L. FIRIBTH

2. TS 3ehigd
3. W[ oid

4. 20 &d
Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212312892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In human hair follicle, inner root sheath (IRS) is composed of three distinct layers, namely Henle,
Huxlev and

1. Hair conal layer

(]

. IRS cuticle layer
3. Bulge canal layer

4. Epidermal layer

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212312892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HId AP H, AR Hel AR (3R T WY-3M1g 3RTY) - Geuu WRT 4 FiHd gl
FANECIE T A I DA

1. H e TR

[

- TS 3RUY IUcddl TR

3. dool Alcldh] TR

4. digcddl &)X

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212312893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A print made by passing light through the negative generally onto photographic paper, is known
as:

1. Digital photograph
2. Photograph negative
3. Photograph positive

4. Photomicrograph

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212312893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ilfed & Ty I U1 Dl ToRR JE-dqal hidiiihd uR R FfHd U= SH1 Srdr g2
1. f3fSTed wierms

2. BICITE Hilfed

L N

3. I Uilsiicg

4. I HIZHUTH

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212312894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Choose the correct coating material normally used to coat a wooden object for the purpose of its
protection and is an extract obtained from insect.

. Formic acid

(]

. Serum
3. Shellac

4. Xylene
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212312894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UGl 0 54 BT 99 3 Sl JH-d: YRET & 3539 4 ddbal & U [0S (&) & dud &
foTT TRINT 0T ST §, S dlel o Ut U 3 g

| BiHE

2. TGIHE] (HRH)
3. Qcld

4. SIgfed

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212312895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In Ruthenium tetroxide (RTX) method of finger print development on range of porous, non
porous and semi porous surfaces , the developed fingerprints are of which colour.

1. Dark gray colour
2. Red colour
3. Green colour

Yellow colour
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212312895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T3, YR AR - Ty G| (Hdeh &l Uh 407 IR TR TUie f[AhRid & &1 sdfHay
CClqIs S (3RS fafe ® fasiyyd Rty oy ¥ & gid ©

1. ITgRT R 41

2. dId 3
3.8

4. grar
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212312896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Dr. Ivan Vucetich who developed his own method of classification of fingerprints was emploved
in the Central Police department of :

l. Argentina
2. France
3. Ttaly

4. India
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212312896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

31, 39 Y ied gl hRU=d & Fifleu ol g of fafe &l f[daiyd fear, g &
B2 gy fqur H srikd 4

L. 3 El

2. Thig

3. gedl

4. HIRd
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212312897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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For the first time in the history of inter-continental identification using combined finger print and
code system, police from which country apart from Scotland vard was involved:

1. Royal Bengal Police India
2. Victoria Police Australia
3. Royal Mount Police Canada

4. Victoria Police South Africa

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212312897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yo fhRftie 3R S Uullell &1 UaiT &4 § sfqHgrgliig SR & 2fdgrg d ugdl iR,
Eﬁiﬁ—s’méa? Hﬁrﬁaﬂﬁv‘ﬂﬁwﬁqﬁﬂﬁﬁﬂtﬁ

1. g §7Te gfery HRd

>. faaeiiar gfery sifedfermn

3. 39d HRdC Yfery $A1sT

4. [aaeIRAT Ufery |13y Sl

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212312898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 70/191



8/31/24, 10:13 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Which microscope is used to study thin sections of soil samples mounted on a glass slide

1. Petrographic microscope

t2

. Acoustic microscope
3. Inverted microscope

4. Travelling microscope

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212312898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fh g e =il &1 TanT 16 Wigs W {RIUd (\AS<s) gl & 991 & Udd @usi &
g & foTU a1 S g

. TRreT gemexit

. b el
. 3fddd &It
4. 91 Yereif

Options :
1.1
2.2
3.3
4.4

p—

2

L¥S]

Question Number : 63 Question Id : 34212312899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of these is an alpha-2 glvcoprotein having the special function of mopping up the residues
from aging and degenerate haemoglobin?

|. Gm immunoglobins
2. Inv immunoglobins
3. Haptoglobin

4. Globulin Ge

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212312899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

EfIRad H O 19 91 U 3ABI-2 TR HIUICH o forgd! SiivlH! 3R AU gEnali«ed O
3RS} &1 BTl 63 B fa=y Wb gidl 8

Th

1. Gm AN

2. Invﬁ%ﬁ?ﬁﬁfﬂ
3. goIdifad

4. T[T Ge

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212312900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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At the stage of speech production, dyvnamic speaker individuality include:

1. Lisp- a functional speech disorder

t2

. Length and shape of vocal tract
3. Thickness of vocal holds

4. Length of vocal holds

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212312900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 (HTYUT) Bl SR DI AR H 7Midd add dafdadsdl § UiHfed gidl
1. o0 Ush Ui a1 fadpid
2. ANTIRE &1 g 3R i
3. AAYEH] Bl HleTg

4. 999D Dl TS

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212312901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Saliva samples collected for forensic purposes is to be stimulated. For this, what should an
individual chew:

1. Chewing gum
2. Lemon
3. Dark chocolate

4. Paraffin wax

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212312901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BRYS Iegll d dR & 9941 & Ul & (6l dR &1 Selitd fbdl Sidl g 38d et Al
1 1 I« 1

1. S TH

2. 1q,

3. STd diddd

4. WRT HIH

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212312902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 74/191



8/31/24, 10:13 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

The backward fragmentation of glass was first reported by?

. Hoosbeek and Bryant, 1992

t2

. Nelson and Revell. 1967

L

. Sposito and Reginato, 1992

4. Yaalon and Yaron., 1966

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212312902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

$Id & UYadl [Gaus (dhds WBITHRM) Bl GdUYH (9 & gRT UIE fdbdr 1ar o1
gD R ST, 1992
FeT 3R R4, 1967

3. Wt 3R ISATE], 1992

[

B

4. 91l 3R IRM, 1966

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212312903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The - OH group of alcohols when bonded to carbon-carbon double bond (CH,=CH-OH) are also
known as:

1. Allylic alcohols
2. Benzylic alcohols
3. Vinylic alcohols

4. Ethanol
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212312903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3fehigdl Bl -OH YHE 3{d Pla- Dlad [gAE= (CH,=CH-OH) Y &I gidl g, g 4 ot
EIEIEIGIE

sy

3. faAsfeid siedbigd

FRUIEI]

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212312904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The probability of concurrence of all the events is equal to the continued product of the
probabilities of all the separate events, this principle was laid down by?

. Bertillon
2. Henry
3. Locard

4. Newcomb

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212312904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gt gedral & gged B Uilddl Y4 gyd ge-13ii &1 uidddisi & ddd 0% &
SRR gidll 8, 39 Rid B STuRRIaT (44 gr1 3™l 715 2

1. dicaH

2. g
3. didble

4. DI

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212312905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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When a molecule is placed in a magnetic field and as it is when one determines an NMR

spectrum- its electrons are caused to circulate and while circulating, they generate a secondary
magnetic fields which are known as:

1. Electro magnetic field

[

. Induced magnetic field
3. Geo magnetic field

4. Neutral magnetic field

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212312905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

old U 3U] Bl JHIb 1T &3 H U a1 Sirdl g 3R SIY g1 U Ufck] UAUHSIR WaeH &l
T TR B- TP 3aide - URIIRA 8id 8 SR IREERUI & aRM, d fgdiad gaEa eFf
1 T HRd ¢ forg 18 UhR Y ST Sl 8:

1. faggd- =@ &
2. URd Ty &
3. Y IEDY &7

4. SeT4IH T &

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212312906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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For the purpose of development of latent finger print at a scene of crime, different powders are
used and one of them is chemically known as “Hydrag cum Creta”. The colour of this powder
1s

1. Grey
2. Red
3. Black

4. White
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212312906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch MR- R U5d [HTRIUC DI fdb id S & Ie30 & e fir urt &1 wgio foar
SITdl § 3R 390 U Udh &l IS U Y "glgs’ dH thel" & A1 Y ST SIdl g 39 Ul
G T I ) B e | i 151 S

L. ¥R

2. <l

3. dlc

4. 9thq
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212312907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Capillary zone electrophoresis could act as a complementary to which of the following separation
technique?

1. Gas chromatography

(]

. Ion Exchange Chromatography
3. Size exclution chromatography

4. Gel Chromatography

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212312907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIRAHY &7 faggd Hur dda [Aafafad O 9 f6d guadhrul dh-ld & Rb & =0 4 S
AT

1. 719 guiehH civad
. 31 [a4HY quigH oad

[

3. B ATduid dUhH -

4. Sl 9UIHH TRa-
Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212312908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The process of making out what is illegible or what has been effeaced, is known as-

1

t2

4

. Decipherment
. Detection
. Splicing

. Skill

Options :

1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212312908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

3UTSY 3AYdl f[aiitd & 93[ &1 Uichal &1 (99 =9 H 51 Sl -

[~

. 3grdd
O
 gHTRE

4. B

Options :

1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212312909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Urobilinoids, including urobilin and stercobilin are generated from the degradation of heme and
are excreted into :

l. Saliva
2. Feces
3. Semen

4. Blood

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212312909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QRifafTagy, oy RIfAEE 3R Walfdicr 9iifad g, €19 & 3dbau 9 3049 gld g 3R
BEEESIEEEGEE

1. R

2. Hd
3.9
4. %R

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212312910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The flexible split nib enables the width of the line to be controlled by variation in pressure; this
variation in line width is known as:

1. Line quality

(]

. Shading
3. Pen pressure

4. Fundamental difference

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212312910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 fayTford e a1 &1 9ISiE &1 ard § uRddd gRI HEd &34 d 90 941t 8: 31 &t
dIsTe | U8 URdd 9 =0 H SIHI 11 8:

1. Gl Bl S ¥l

2. DDA
3. haH gld

4. SYRYA H&

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212312911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Duolite C 225, Amberlite 120, Dowex 50 or Ag50W are trade name of which type of ion
exchangers?

1. Weak acid cation exchangers
2. Weak base anion exchangers
3. Strong acid cation exchangers

4. Strong base anion exchangers
Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212312911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Slaldlse €225, TERARE 120, SIATY 50 YAl Ul 50 S&Y [y UPR & 144 fa-HaHi
H ST

1. gadl 3% Y-1a fafags

>. Gad &R BUH [amgs

=

3. Udd 3R 49104 f[dfHas

4. Udd &R BUIaH faFaas
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212312912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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P-dimethylaminocinnamaldehyde is used to detect in urine

. Creatinine

t2

. Sodium
3. Urea

4. Potassium
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212312912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

P- SEHIUSAHHINAMHUEE s DI AH & UYdd & ol yaiT fhdr Srang)
. fepudtars
. qifsgH

3. g
4. GiefgH

Options :
1.1
2.2
3.3
4.4

[~

Question Number : 77 Question Id : 34212312913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Choose the correct term used to measure the ability of a chromatographic column to separate two
analytes:

. Retention time
2. Retention factor
3. Resolution

4. Retention volume
Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212312913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch quichy TiRd &I &1 &l fa=clffidl (TATdIS ¢H) 1 YYdh hrd Bl &HdI T H1UH & fig
WWWWWE&

1. UfdeRo 9Hyg
2. UfdYRU HRE
3. A

4. Ufd ¢ROT 3
Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212312914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Alkenes when react with water in the presence of acid as catalyst, forms which of the following :

1

t2

. Ether
. Strong acid

. Methoxy methane

4. Aleohol

Options :

1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212312914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uedh g e 3AR® & U H 2 I IUMTT & od & 9y AU axd g, diAgH d

g i $Hd &

1

SR
2. Yad 3

3. HYTRHYA
4. 3chigd

Options :

1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212312915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

87/191



8/31/24, 10:13 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

During the synthesis of ethanol, when the starting material is starch, in addition to ethanol a
smaller amount of inferior liquor is also produced, which is also known as:

l. Grain alcohol

2

. Isopentanol
3. Fusel Oil

4. Fuel O1l

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212312915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T & YAV & SR, Sd URTES g T gidl 5, THId & U1y Fepy 7e i U
311 A Yt Iaifed gidl ¢ o g & =u H i S 9 g

1. 94 3fehigd
2. AEYIU=AE
3. B 3Higd

4. Td AH1ad

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212312916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The bullet consists of a core of lead alloy covered with a metallic jacket where the tip of the
jacket is thin, is known as:

1. Armour piercing Bullet

2

. Tracer Bullet

3. Incendiary Bullet

4. Dum-dum Bullet

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212312916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl U Ui Sidve, STgi Sidve ol XY RIRT I gidl ¢, ¥ sifed Sr-fyud & o
Y A gidh ¢, ford 19 =0 o i S Siran g

1. ®dd dYH Ticll

2. HAED el
3. GIg TNidll

4. SH- SH et
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212312917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Permanent teeth which are 32 in number are arranged in each jaw as:

1. 2 incisors, 4 canines. 6 premolar and 4 molars

t2

. 4 incisors, 2 canines, 4 premolar and 6 molars
3. 4 icisors, 6 canines, 2 premolar and 4 molars

4. 6 incisors, 4 molars, 2 canines and 4 incisors

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212312917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T g1, ! e 32 gidl 8, Ui o9 H 9 UeR fad g1d ©:
1. 2 PP, 4 IG-Th, 6 - FaUid 3R 4 Iduid

4 DD, 2 G, 4 3Y- IqUD 3R 6 AqUH

4 PId, 6 6D, 2 3- IqUid 3R 4 A0S

4. 6 P, 4 90D , 2 G-I 3R Pdd

f-2

L8]

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212312918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The cartridge case having an extractor flange that is smaller than the diameter of the case, the
groove around the body of the case is present in front of the flange. The cartridge is known as:

1. Belted cartridge case
2. Rebated cartridge case
3. Semi-rimmed cartridge case

4. Rimless cartridge case

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212312918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch U e Ul dTcdl dhlfdol &y Sl fb Y &b o1y Y Sl il 8. i & Hbi &
U 1 Jd Yelol & YT FURYT Bl 6| BIfc sl bl {15 U T ST Sl 8-

2. N8 dIfed &y

3. H1- w8 wifds &9

3. g H1fds 8

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212312919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the undermentioned compound is considered to be a mild analgesic drug (NOAD)

1. Oxycodone

t2

. Tramadol
3. Codeine

4. Acetaminophen

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212312919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

17 Sfceiad diffte! | O fhd gg tisT-2rddl 3N (F13(S) JH1 SIIdl g2
R ICRICARIRE
2. TS|

-~

3. BlaH
4. THEAHATEA

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212312920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who among these has devised a method for accurate age estimation by menas of incremental
lines?

1. Boyde
2. Michael Graham
3. Henry Lee

4. Cyril Wecht
Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212312920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad ® I fa ae=tg Sarsil & J199d U o)) & 9dia sfidad @i fafd &1 sifidmeaH
DI

G

2. High o UlgH

3. gl
4. FOfva 9=

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212312921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The twist required (in calibers) equals 150 divided by the length of the bullet (in calibers) is
known as;

1. Greenhill's formula
2. Du-pont's formula
3. Mayeuskil's formula

4. Journee's formula

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212312921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TP 3P (f7) (Faiiad H) 150 I Tl B areTs oy H) F Ao sa &
SRR gidl 8, o 9 =9 § 911 <71dl 8:

1. JHgId T o
2. S P
3. B! &l A
4. SHl BT YA

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212312922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is called the resting and inactive stage in respect to life cycle of an insect?

l. Egg stage

t2

. Adult stage

L

. Pupa stage

4. Larvae stage

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212312922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafdRad # U &F Tl U Dic & Silgd 9o & UaY | [d9H 3R 21 gl dhedldl o2

1. AUSTER
2. Uiea=

3. UG
4. @RI

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212312923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The retardation (R) of the standard projectile in feet/sec is given by

1. AV" where ‘A’ and ‘n’ are constant and *V" is the velocity
2. W/d? where ‘W’ is the weight of the bullet (in pounds) and “d” is the diameter (in inch)
3. W/id? where *W" is the weight (in pounds) ‘d’ is the diameter and ‘1’ is the form factor

J 3 - 1 = " " Lad
4. Y5 gt~ where ‘g’ is gravitation pull at time interval ‘t

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212312923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hic AHUs # A UaU &l <1 (R) R gRIfGar Siar g
1. AVE SRl ‘A’ 3R o’ TRR B 3IR v a7 g
2. W/d? S8l *we Tl &1 4R (UNSY H) iR «d° o (329 H) ©

3. W/id? 5181 “W* HR (U389 H) 31R «d° N 3[R i &7 01 g

4. v: gt? S8l *g” HATRIA t IR S g HU g
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212312924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 96/191



8/31/24, 10:13 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Arrange the sequence of introduction on watermarks into the paper:-

A. Cellulose fibres are retained and felted through its vibratory motion

B. Raised letters and designs on the dandy, roll, presses onto the moist web to compress and
thin out the fibres

C. The paper pulp travelling on the endless wire belt

D. The water is draining away through mesh

E. The moist web of fibres then passes under the ‘dandy roll’

Choose the correct answer from the options given below:
1.C.E. A B, D
2. DAER
34, B C. D E

4.B,E,A,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212312924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT TR dIeXHE & GR-BYTIHT & 3hH bl Haied o3

A. UegeS BI2ad G Tgd 8, 3R 3] W11 Tid & J1e9H J 34d fhU HId g

B. ‘Bie! A UR I 31eR 3R fSom- Biad &l YUifSd 3R aRI$ - & Ay 3%
dd IR Ga1d SIadl g

. UMRIEd IR &I Udl W Addl g3 IS &I il

D, U &1 721 & 110w § A gl Wl g

E. BI3ad &I 3Tg dd [ SIS e & =iid T TRl g

A feu U fawedl § ¥ a1 IR B 99 DIIU:

1.C,E,A,B,D

2.C,D,A.E.B
3.A,B,C,D.E

4.B,E,A,D,C
Options :
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1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212312925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in increasing order of absorption X, nm by organic compounds containing unsaturated

heteroatoms:

A. CH;Cl
B. (CH;),0
C. (CHj),S
D. CH;l

Choose the cerrect answer from the options given below:
1L.AB.B,C
2. D4 B C
3.D.C.B.A

4 A B.C,D
Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212312925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U fAYH-TRAT3H! aTcl DIel-Th TITD] GRT HTAYI X, P SRIGH HH H AR
G7N

A. CH5Cl
B. (CH;),0
C. (CH3),S
D. CH;l

A fau U fasedl § U ¥8T 3R 1 994 DifoIu:

1.A,D,B,C

(]

.D,A,B,C
ST e

4. A, B.C,D
Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212312926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Rigor mortis spreads/occurs in the human body in the following order

A. Lower limb
B. Chest

C. Lower jaw
D. Eve lid

Choose the correct answer from the options given below:

1. A B.C. D

t-2

DA, B, C

BB A

4.A,D.C.B

Options :
1.1
2.2
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3.3
4.4

Question Number : 90 Question Id : 34212312926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl dlfe-d (KRR 1ifdT) 949 IRR § FHafdaiRad &a © hadr gfed gidi g:

A, 3T 3T

B. d&f
ACCHIEES]
D. 955G

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1. A B, C.D

2.A B C
2D B, A

4.A,D,C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212312927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the sequence of printing to get laser printed document.

A. A light source, such as a laser exposes a photosensitive drum in a pattern of tiny dots to form
an lmage

B. The toner is transferred to the paper having positive charge
C. The negatively charged toners cling to the positively charged, sensitized areas of the drum
D. The toner is fused to the paper by heat and pressure

Choose the correct answer from the options given below:

1.C,B,D, A
2.D,C,B,A
3.JAB.C.D

4.A,.C,B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212312927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ORI S SIagHc B U ®ed & Tt T &1 o h Tafkud o3

A. TP U GId 5 & ook Udh YD Ydl S0 bl dgd 3ic fagafl & Uy § gfdfare
f9A7or & feTu I1i¥d Bl g

B. TR &I YHIARId BT IR g¥didiRd & 641 Sl g

C. BUNARI Y 39 & LHIaRId GUrg! &3 1R fud o g

D. TR M 3R &6 & gRT BITel W HIferd gl Sldl g

A fSu U fasmedl § 9 ¥8T 3R &1 994 DI

1.C.B.D. A

2.D.C.B./A
3.JAB.C.D

4 A.C.B.D
Options :
1.1
2.2
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3.3
4.4

Question Number : 92 Question Id : 34212312928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in a proper sequence for conduction of postmortem of the deceased

A. Heart dissection

B. Skull dissection

C. Long bone dissection

D. Radiological examination
E. Collection of body fluids

Choose the correct answer from the options given below:

1.DLE, B, A,C

[

M BB E
3 E B DA

4.D,A,C,B,E

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212312928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Udd & TRUNIRIT GRI01 & HTe- &l R Hafafad &1 3fad s o aferd &1

A. god AdwicH

B. BRITC SAdwsGH

C. Al Tgwsgd

D. fafhRur I Tdieqon
E. IRINS T BT THAT]

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.D,E,B,A, C

2.AB,C.DE
3.E,B.D,AC

4. D.ACB.E
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212312929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the material used for the manufacturing of plastic laboratory ware in increasing order of
temperature they can withstand

A. Nylon

B. Teflon

C. Polystyrene

D. Polvmethvl pentene

Choose the correct answer from the options given below:
1.C,A,D.B
2.8 B C.D
3.4 C. R

4.C.,AB.D

Options :
1.1
2.2
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3.3
4.4

Question Number : 93 Question Id : 34212312929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR WAITRITC Ul & (At & o1 Ugdad uerdf &l 39 Gg-id diadH & RIgH Hd d
AR P

A, AEd
B. CUGI

C. UleReTR <A
D. gleliHyTSe U1

I feu U 9wl § 9 8T IR B 99 DIIT;

LCA DB

2.A,BCD
3.3)A,C,D. B

4. C,A,B.D
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212312930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In a hit and run case, what are the steps followed in a proper sequence for carrving out
investigation

A. Examination of nature of inquiry to the victim
B. Shifting of the victim to the hospital

C. Skid marks examination of the vehicle

D. Photography of the scene

Choose the correct answer from the options given below:
1.A,B,D,C
22D CAB
3.48,C.H.B

4.C.A,B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212312930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3T UUS X U0l H e B3 o U SHR0T fhU S drel =R0ll &1 3 3hd w1 g

A. IS &1 dic &1 Upfd &1 gdigon
B. UIfSd &1 3rudrd H RIMA=RU
C. dlg- & RS | ol URie

D. 9eARIA &1 Bl

A fau U fasedl § 9 ¥8T 3R &1 994 DHIfoIu:

1.A. B, D, C

f2

.D,C.A, B

34AC DB

4.C.,A.B.D

Options :
1.1
2.2
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3.3
4.4

Question Number : 95 Question Id : 34212312931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The correct sequence for tandem mass spectrometer is:

A. Mass analyzer |
B. Detector

C. Interaction cell
D. Ion source

E. Mas analyzer 2

Choose the correct answer from the options given below:

1.D,AE, C,B

[

e BC DB

3.D,A,CE,B

4. D, E.A.C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212312931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3d<S GaHH JUIGHANIGT (CUSH AN WdeHIeR) & el Ugl 36 H &

A. GoUHM [d%eiN® | (AT TATEIEOR 1)
B. Ugdd (Fgda)

C. 3= b a1 U1y (e Uad)

D. 3T FId (319 )

E. GHM A0S 2 (AN TATAER 2)

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.D,AE,C,B

[

AECDRB
3.D,A.C.E,B

4. D.E.ACB
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212312932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in sequence the entry of Diatom from water medium to human body

A. Returning of diatom- laden blood to the left side of heart

B. Presence of diatoms in the femoral bone marrow is an indication of antemortem inhalation
of water

C. Diatoms present in drowning water body

D. Perforation of alveolar-capillary barrier by diatoms

E. Diatoms embolize to organs and tissue, such as bone marrow

Choose the correct answer from the options given below:
1.A,B,C,D,E
2Z:BACE D
3D AT B

4.D,B.E,C.A

Options :
1.1
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2.2
3.3
4.4

Question Number : 96 Question Id : 34212312932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oid J1e Y 91d YRR § SAcH & UdR $i 3hH H Haied di

A. ST9CH Y W B4R BT gad & J1f 3R a1y e

B. 3% Y Ol § S &1 SUlRRf JR0Yd Sid & S{ciigul &1 Hobd @
C. 9 dTel 9 HP1a § S Bl SuiRyfd

D. SHICH §RI dgHINN- HIRD Y ¢l &1 fog

E. SR 3T 3[R 3] ol 3T B Iad Fid AL B gdbd g

+id fGu T fasedl § 9 @@t 39 &1 994 Hifeu:

1.A,B,C,D,E

2.B,A,CED

3.0 DA E DB

4 D. B, E,C A
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212312933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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For fingerprint based recognition system. tick the correct sequence.

A. Enhancement

B. Matching from data base
C. Image upload

D. Segmentation

E. Feature extraction

Choose the correct answer from the options given below:

LB A E

b2

G DAEB
3.,E,C,D,B

4.D,B,C,E,A

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212312933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fOh RO 31eRd AR Yorcll & el 9g1 3fdhd &1 9a B

A 938 ST

B. Sle&Y Y fAdH

C. HY ATAS HIAT
D. WUS[ H [GUISH &l
E. fa=mdref o1 fAssyu

A [Su TU [d&edl § 9 ¥8T 3R &l 994 DI

¥
1B, 1D, C AE

]

E.DAEB
3IAECDER

4.D,B,C.E, A
Options :
1.1
2.2
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3.3
4.4

Question Number : 98 Question Id : 34212312934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Silica based DNA extraction from biological exhibits follow the process in following sequence.

A. Washing

B. Cell lysis and Protein digestion
C. DNA adsorption onto silica

D. Elution of DNA

Choose the cerrect answer from the options given below:

1.B,C,A,D

[

A, C,B,D
3CADB

4B A CD
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212312934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g%mﬁw-wmmwmﬁmmﬁmm

A, U

B. BIRIGHTATH AR UIEH U=
c. TidIT IR SITAT Y=y
D. SIUHU &1 (&

A fau U fadedl § U ¥8T 3R &1 994 DI

1.B,C.A.D

[

A C.B.D
304D B

4B, A, C,D
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212312935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange In correct sequence in increasing order of composition (%) of oxide(s) present in
portland cement

A. SiO,
B. ].:'3203

C.CaO
D. Al,O;

Choose the correct answer from the options given below:

1.AB.C,D

]

.C,A.D.B
3.D,B. AL

4.B.C.,D. A

Options :
1.1
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2.2
3.3
4.4

Question Number : 99 Question Id : 34212312935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Oieds Uit= 4 SuYd 53 HdaEad & JueH (%)d RG] HH o Hafed &

A. Si0,
B,PEZOE;
C. Ca0O
D. AL,O;

A fGu U [ddeal § 4 T 3R &1 98 DT
1. AB.C.D
2.CA DB
3.D.B.A.C
4. B,C.D,A

Options :

1.1

2.2

3.3

4.4

Question Number : 100 Question Id : 34212312936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The human skin is divided in two distinct layers, epidermis and dermis. Epidermis is a stratified
epithelium composed of five sublayers. Arrange the five sublayers from bottom to top.

A. Horny Cornified layer (Stratum Corneum)

B. Spinous layer ( Stratum spinosum)

C. Basal generating layer (Stratum Ggerminatirum)
D. Granular layer (Stratum granulosum)

E. Transitional hyalin layer (Stratum lucidum)

Choose the correct answer from the options given below:

LA, C B.E
2.C. B, D.E A
3.B,E,.C,D,A

4.A,C,D,B,E

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212312936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qdcdr S fis qRuy TRl dfigean 3R &= | fauifoa gidt 3 sfecd=n uia Swart @ fffa
Ui d Sudbdrgldl g Uidl SURI &I (4 9 Y I sgafeyd &3

A. e IR (ITH BIH3H)

B. Hhedh &R (oA RuAgH)

C. WRIEH TR (L cH Hffiean)

D. URTST/ HUMY TR (L cH J-IdaH)
E. Wb TR/l (e FGRis)

A feu U fawedl § ¥ a1 IR B 99 DIIU:

L. BACB.E

DB DEA
3.B,E,C,D,A

4.A,C,D,B,E

Options :
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1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212312937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the proper sequence of firing.

A. When the bolt is drawn backward, the fired cartridge case 1s extracted from the chamber and
trails along with the bolt.

B. In its backward journey. the gun is cocked also.

C. When the bolt is pushed forward. it piles the cartridge from the magazine and chamber it.

D. When the bolt reaches a position where the cartridge comes in line with the ejection port, it
strikes the ejector with a force and ejected out.

E. The forward motion of the bolt locks the gun, seals the chamber by turning the bolt knob to
one side.

Choose the correct answer from the options given below:
LA BB, CE
2.4, B, D CE
A BCED

4.B,C,D.A.E

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212312937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fgfaRad & BT & 3fd $H H afeyd &

A. 59 dice DI Ui T 3R Wil SIdl g, SN 1 BIfcsl Y R U Hebadl g 3R dice &
-7y fergedi g

B. Ule 1 R oH ¥ 1l S HT 9IS IG1 3T Bl g

& @ﬂ%ﬁaﬁmﬁmmwﬁaﬁﬁ?ﬁqﬁﬁ@aﬁm%aﬁuﬁ%mﬁ

D. o diee 39 fRufd d ugd S1di g Sigl dIfds gold= uld & 91y @l | 31 9ldl ¢, 48
Foldey IR Haldl 3HTHTd Pl g dIeR Had Hrdl g

E. dIcc @I 3T B SR M S DI dldh o Gl g, dlec DI Ald Bl U 3R GHHR JIeR
&1 i B el g

A fGu U fawmedl § 9 98T 3R 1 994 DIoIU:

1.A,D,B,C,E

2 B LG E
3.48,B,CED

4.B.C.D.AE
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212312938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the correct sequence, the standard analytical procedure used for identification of source
of a paint sample.

A. Microscopic Examination
B. Topcoat colour Coding

C. Primer colour Coding

D. Paint database query

E. FTIR Analysis

Choose the correct answer from the options given below:
1.A,B,C.D,E
2 ORI B
34D ECEB

4.A,EC.D.B

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212312938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U< & 9 & 9Id &1 Ygd[ & it 9H$ d=clltieh Uishdl &l el 3f-hH T Aaied &

A. G&reif 9 uRien

B. ClUHIE HaR DI
C. UISHR ek HIST
D. U= STefaq &l

E. U 3SR fa=aiw

A feu U fawhedl § ¥ gt IR B 99+ DIIT;

1. A,B,C,D,E

2.A,C.B.D,E
3.A,D,C,E,B

4 ALE,C,D,B
Options :
1.1
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2.2
3.3
4.4

Question Number : 103 Question Id : 34212312939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The traditional definition of death is irreversible and permanent cessation of life as evidenced by
stoppage of.

A. Brain function

B. Respiratory activity

C. Cardiac function

D. Reproductive activity

E. Digestive system function

Choose the correct answer from the options given below:

1. A, B and E Only
2. B, C and D Only
3.D. A and C Only

4. A, B and C Only
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212312939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U &1 YRIRG TRUTHI g Siia- P SgehAviy 3R ! favH Sl i 79 & $hd gRI
THIfOrd gldl ¢

A. HIGTSS BT B
B. {94 Tfafafy

C. eI I

D. Yol Tfdfafe
E. U o &l B

- feu U faseut # ¥ @1 IR &1 99 DI
1. Had A, B 3ARE
2. $had B, C 3R D
3.$ad A, C 3R D
4. Had A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212312940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct uses of the preservatives in the developer, used in photographic process.

A. to maintain the pH or alkalinity at a constant value.

B. to prevent wasteful oxidation of the developing agent.

C. to prevent the discoloration of the used developing solution with consequent risk of staining
of negatives and prints.

D. to activate the developing agent.

E. to act as a silver halide solvent in certain fine-grain developer formula.

Choose the correct answer from the options given below:

l.A. D and E Only
2.B, A and C Only
3.B.C and E Only

4. A. D and C Only
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Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212312940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B E Uichdl H Tc] SddUR § URRE®| & ol IUTNT B 984 B

A. pH 3{Udl ¥R&dl &1 [ HH UR -1 3&H]

B. St Uole & Syl ffafidl &l Al

C. Tifeey SR ey & HRSH & Hdd SIRad dTed SUdnT U 7T Sdardi [qaad &
faquiq S A1 §

D. ST Toie &I Hichy BT

E. $S MEd BEA-U9 SIamR BiRjdl H e garss f[Aam® & dk R &1/ &3

1 fqu Y fdsedl § 9 Fg SR &1 99 HifoT:
1.Hdd A, D 3R E
2. Hdd A, B3R C
3. ®dd B, C 3R E
4. HIAA, C3ARD

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212312941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ray Search and quadrant search methods are respectively known as.

A. Wheel search method
B. Spiral search method
C. Zone search method
D. Grid search method
E. Line search method

Choose the correct answer from the options given below:

1. B and C Only
2. Aand C Only
3. D and A Only

4. E and D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212312941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4 3R SIS Yd HH: 34 UHR S Gl §

A. B Td fafd
B. W1E3d Ud fafe
c. o9 9 fafd
D. I8 d faf¥
E. Alg- 94 [dfY

1 feu U fas ettt # 9 F1 IR &1 99 DI
1.HdAB 3R C
2. HIA AR C
3. ®dd A AR D
4. H9AD AR E

Options :
1.1
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2.2
3.3
4.4

Question Number : 106 Question Id : 34212312942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘DIBs’ and ‘On track” are Forensic computer investigation tools used by forensic expert to
analyze cases along with.

A. Time Division Multiple Access
B. Forensic- X

C. Snap Back Dot Arrest

D. Subscriber Identity Module

Choose the correct answer from the options given below:

1. Aand B Only
2. B and C Only
3. Cand D Only

4. D and A Only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212312942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘DIBs’ 3R -Ontrack’ BRT® ST 34N JUGRYI ¢ foig RIS (=I5 gRI A1l &
79 & 1y [92di®d S & g vanT f&ar Srdr g

A. CI3H fSfao Aediud Ty

i feu T fahedl § 9 a1 IR B 99 DIIT;
. Hdd A 3ARB

2. HadB AR C
3. Hdd C 3R D
4. Had A 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212312943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statements are correct regarding natural variation in handwriting?

A. A widely divergent master pattern can properly be considered to be a ‘personal’
characteristic of the handwriting.

B. The handwriting should not be characterised on its letter design although the nature of
variation is recognised and the characterisation is based upon the master pattern.

C. The natural variation is regarded as fatal to any conclusion as to the authorship of the
handwriting.

D. The value of nature and extent of the variation around the master pattern will become
evident in two handwriting having similar master pattern.

Choose the correct answer from the options given below:

1. Aand B Only
2. B and C Only
3. C and D Only

4. D and A Only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212312943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafaRad H# ¥ D11 ¥ $YF gidord H Uipidd uRdd-ad & 9<H 3 ugl §

A. T AD U Y AR U UR=Y Dl §&Icd &1 U A Ta f[a=Ivdr gH1
3Ugdd U Y M ST bl g

B. gXIcig BT 39D 3HeR U edd YR TR [GRIYI-9uiH 981 =1 d1iet Iy uikddq
DI GgdH1 STl g 3R [IUYdr-auid UM UREY TR 3141Rd g

C. gl & Wi/ UidhRE by & folt Ui idd fH=dr &l grdd 91 Sidl g

D. Y4 URSU & U URddH &l Ul 3R 1 &1 el UM UeH URSU did 31

gxical § Uy faams <
- feu U fasett 7 ¥ @1 IR &1 99 DI
1. Pdd A 3R B
2. $HIdB 3R C
3.®dd C 3R D
4. PadA3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212312944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 124/191



8/31/24, 10:13 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Which chart is used to study shape for measuring the axis of the sandy particles of the soil.

A. Munsell soil colour chart

B. Krumbein roundness chart

C. Holding capacity chart

D. Soil resistivity information chart
E. Power comparison chart

Choose the correct answer from the options given below:

1. Aand B Only

b2

.C and D Only
3. B and E Only

4. D and A Only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212312944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At & ¥fidd Bl & S1&- a0 DI 3hfd & ey & et fbg a1 &1 3uan fdbar &irdr g

A. T 9igd HeR 91d

B. hidad A3 S1gdIe

C. BIfeST HURICT ard

D. Higd SIRefadt S hHIH daré
E. JIqR SRS 91d

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. Hdel A 3R B
2. %dd C AR D
3. ®Hdd B AR E
4. ®Hdd A R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 109 Question Id : 34212312945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Based on the action, which of the following is classified under long duration barbiturates:

A. Amobarbital
B. Secobarbital
C. Phenobarbital
D. Pentobarbital
E. Mephobarbital

Choose the correct answer from the options given below:

1. Aand C Only

B

. C and E Only
3. Cand D Only

4. B and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212312945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 126/191



8/31/24, 10:13 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

fopan & 2R W, Fgfeiad H# 9 & 9 dHdIfed sSifdeicd & 3fdiid ariigd fbu &1 §

A. THIEISe
B. YplaTldcd
C. BleTfded
D. Uldifdea
E. HpIdTfeed

i feu T fahedl § 9 a1 IR B 99 DIIT;
. Had A AR C

2. FHId C 3R E
3. Hdd C 3R D
4. HIdB AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212312946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are correct regarding matching of firearms with cartridges?

A. The position, size and the general shape of the firing pin and the breech face marks on the
cartridge are the class characteristics.

B. The firearms of different makes and of different models of same make imprints different
class characteristics.

C. The caliber, the number, width, direction of grooves and lands, form the individual
characteristics in case of fired bullets.

D. Class characteristics can not indicate the nature and possible make of the firearm used in the
crime.

Choose the correct answer from the options given below:

1. Aand B Only

(]

. B and C ONly
3. C and D Only

4. D and A Only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212312946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FIRId ¥ U & U BRI & Sifcoy & 91y e & 9= H el o

A. mﬁﬂ@gaﬁﬁ@ﬁ PR 3R YA Pl 3R Dlics R i by A aif

B.%ﬂﬂﬂaﬂmﬂﬂﬁ%ﬁﬂﬂﬂm%w&mmﬂaﬁﬁ?ﬁw&ﬁﬁmm

c. i Tt miferdl & Ard § dolla’ &A1, d1STs, Yod SR ogy ®f fam gyd fqesdraf
&1 Ao 6l g

D. 7 T4=I=Iard 3uRref © vi fhU 71U BraR3iE &l Ughid 3R Iidd G &1 Hobd el
X GHdl g

- feu U faseut # ¥ §871 IR &1 99 DI
1. HdcT A 3R B
2. HIAB AR C
3.®dd C AR D
4. ®Hdd A 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212312947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Select the correct statements related to enzyme:

A. Enzymes are complex nitrogenous compounds which are produced by living plants and
animals.

B. In intestine, pepsin enzyme convert proteins into peptides.

C. The conversion of milk into curd is a non enzymatic reaction

D. Numerous reactions that occur in the bodies of animals and plants to maintain the life
process are catalysed by enzymes.

Choose the correct answer from the options given below:

1. Aand B Only
2.Band D Only
3. Aand D Only

4. B and C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212312947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UST5H U GHEId U YAl B UgdH d

A. TSR Sfifad ureut 3R Uit gRT SdTed Sfed ArgelsHi 91fi1e gid ©

B. 37 H, Ut TIIsH U= &l UpTsgy A uRkafdd Hrar g

C. QY BT &gl H SURU TR Hicdh HUfharg|

D. Siid UehH &I §41U T & o gggadi 3R ureyl &f drrsi & gfed g4 drefl ga 4t
ATHIHATY TR A GRT SR BIdl ¢

1< ST U [qhedl § ¥ a7 IR @l 94 DIIT;
|. Had AR B

2. H9d B AR D
3. Hdd A 3R D
4. HadB AR C

Options :
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1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212312948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The production of the recoil in the gun is due to:

A. The reaction due to the acceleration of the bullet from a state of rest to the velocity it
possesses when it leaves the gun.

B. The reaction due to acceleration of the powder charge.

C. The reaction due to acceleration of the primer change.

D. The reaction due to the muzzle blast.

E. The reaction due to the drift of the projectile.

Choose the correct answer from the options given below:

l.A.Band C Only

b2

.C.D and E Only
3. A.Band D Only

4. B, C and D Only
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212312948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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<@ 1 Ufd8T 31 3aR 9 SRUT IS ©

A. faymaR O s<& I 710 gid T8y 21fd¥ 97 dd & @0l & HRUT Uidihar
B. Ur3eX d1 & @Rl & HRUT Uidichdl

C. UISHR 95| o @Rl b hRU Uil

D. HTd &I & HRUT Uididhdr

E. U D1 QAT & BRI Uldidhan

- feu U fasett # ¥ FT IR 1 99 DI
1.Pdd A, B 3R C
2. $had C, D AR E
3.$had A, B3R D
4. $ad B, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212312949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Metal crucibles are made up of pure platinum which are supposed to be very soft. To increase the
hardness which metals are generally add to make platinum alloy which are comparatively
stronger than platinum?

A Tron
B. Iridium

C. Copper
D. Rhodium

Choose the correct answer from the options given below:

1. Aand B Only
2. B and C Only
3. Aand D Only

4. B and D Only
Options :
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1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212312949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hod pRd Yo Wiedd 9 &4 gid ¢ 518 dgd =48 giH1 918U $aIRd1 &l deiH & feu

wife"d fAgerg, i i Y wiicTH U 38 Uad gicil 8, a9 & o7t Qi1 foe Ui ol
[EEIRIEIGI

AL SHTERA

B. o3l 0H

C. DI
D. JfsaH

-4 feu e fasedt # 9 @1 SR &1 98 DT
1. Hdcl A 3R B
2. HAAB AR C
3. ®dd A 3R D
4. $ddB 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212312950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are correct regarding wire marks?

A. The fine marking covering the surface of the paper.

B. If the wiremarks are parallel. the paper is called “Wove’ paper.

C. If the wiremarks take the form of mesh, they are known as °laid’ paper.

D. Wire marks are introduced into the paper at a very early stage of its manufacturing.

E. Wiremarks have importance when a document has become torn and has then apparently
been repaired.

Choose the correct answer from the options given below:

l.A.Band C Only
2. B, C and D Only
3. A.Dand E Only

4. B, C and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212312950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IERETR] & Y § ([HyfeRad § 4 o I ugl g2

A. DTS B Gdg Bl haR Bl gs Blad AT

B. ¢ IR THR €, I -did° UIR Hgaldl ¢

C. Tfe; aRRATE] HRI HT Y d dd 8, 3¢ o8 UR &gl 9idl ©

D. A BT BT U 39 A0 &l Y= 3Td] a1 § Sfafdy fhar sarg|

E. IFRATR] &1 7gd1 a9 gidl ¢ o SIagHe Bl g3 8l g1 ¢ 3R iR Sud drR 9
IS ATHT DI TS ol

- U T faeedl # ¥ @87 IR BT 907 DI
1.Had A, B3R C
2. $had B, C 3R D
3. $Hdd A, D 3R E
4. HddB, C 3R E
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Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212312951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A concentrated extract of the urine stain may give a characteristic small due to
evolved by bacterial degradation of urea:

. Bilirubin
2. Sugar
3. Sodium

4. Ammonia

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212312951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A & G &1 U Udiad 3 gRAT & forar] &R0 gRI 4B 1Yd (3@H) BH & HRUI
Uoh falRw 7y ¢ g1 g

L. focftefeq
2. Il

3. gifsaH
4. 31T

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212312952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following present in Portland cement are also known as “Bogue Compounds”.

A, Alite

B. Bakelite
C. Celite
D. Ferrite
E. Felite

Choose the correct answer from the options given below:

1. A, Cand E Only
2. A.Band C Only
3. B.D and A Only

4. D, E and B Only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212312952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁaﬁ%@aﬁﬁaﬁ?ﬁdﬁaﬂgﬁﬁ?ﬁ@@ﬁﬁﬁﬁﬁ%"@ﬂﬁﬁﬁ“ﬁw@lﬁw
Sl

A, Uddlgc
B. ddhdlge
c. gdarge
D. BRige
E. bhdlge

-4 feu U fasetl # 9 @81 SR &1 989 ST
1.®dd A, C 3RE
2. Hdd A, B3R C
3. ®Hdd A, B 3R D
4. HAdB 3R E

Options :
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1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212312953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are correct regarding exterior ballistics of firearms.

A. The drift is a side-way shift of the projectile and is introduced due to the spinning of the
projectile.

B. The specific gravity of lead ( in non-jacketed bullets) is 10.9.

C. The base drag is due to the interaction of air and metal molecules of the projectile.

D. When firing at an angle, the elevation may give rise to “safe zone’ along the trajectory:

Choose the correct answer from the options given below:

1. Aand B Only
2. Aand C Only
3. Aand D Only

4. B and C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212312953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Prgfafad o @ & 4 BraRerd & 9ieiay & favg & 9gt 8

A. TS Uely &1 ursfadi R uRacq § SR Uald & 96Ul & HRUI Uiy Bidl g

B. U (TR-SIdhes Tiferdl ©) &1 {92y 19 10.9 8

C. 99 ST UUT & 4Tfcdd U3 3R dRI DI 3<1.1eh a1 & HRUIEIAT g

D. Uch 10Ul TR SHTd UHA, 390 U&U-GY & 1Y ~YRIET &3 Bl I B Thdl g|

i feu T fadetl 7 9 FT SR D1 99 BIfT:
1. ®dd A 3R B
2. Had AR C
3.%dd A SR D
4. HadB 3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212312954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct statement regarding pipe bomb:

A. A pipe bomb having a black powder as main charge will produce fragments that are larger
than from the same bomb having a double base smokeless powder.

B. Double base powder has a higher velocity than black powder when used in pipe bomb.

C. Only metal pipe made of cast iron is used as pipes for pipe bomb.

D. Pipe bombs are used during conventional war.

Choose the cerrect answer from the options given below:

1. A and B Only
2. B and C Only
3. Cand D Only

4. A and C Only

Options :
1.1
2.2
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3.3
4.4

Question Number : 118 Question Id : 34212312954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U3y | & [augH Ugl &yl &1 999 &3

A. T 976 & U H $HIcd g0 arell 913y 91 34 9Us| &l Idid SOl S Sad a9
Y 3{iRfgd Fof a7l ISy S U 309 Wusi 9493 g
B. 13U ST § 1T 63 W Sad 99 U &1 97 DIt g0 DI g1 | 3ifed gidi g

C. UI3Y §1d & U UEW & ¥4 H $dd dIRe 3ATERA (¢dd! dig) U & o1d & 130 &I
TN {1 SITd1 §

D. 3T STred IRARNTT GGl & SR TN fHU S g
A feu T faw el § U 8T IR B 99 DIIT:
|. Had A AR B

2. HIdB AR C
3. %Hdd C AR D
4. Had A 3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212312955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are triazolobenzodiazepine:

A. Alprazolam
B. Quazepam
C. Triazolam
D. Temazepam
E. Midazolam

Choose the correct answer from the options given below:

1. A. Band C Only
2. A. Cand D Only
3. A, CandE Only

4. B, C and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212312955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad ¥ 4 & ¥ g el SR o

A, 3[CHTSIH
B. BISUH
C. CASIHH
D. CHSUMH
E. feiam

4 feu U f[damedl § ¥ @8t SR &1 994 DT
1.had A, B3R C
2. Hdd A, C 3R D
3. hdd A, C 3RE
4. HddB. C AR E

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 140/191



8/31/24, 10:13 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
2.2
3.3
4.4

Question Number : 120 Question Id : 34212312956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In respect of blood grouping, the specific sugar present in the blood group AB with Antigen
present A is:

A. D- galactose

B. N- acetylgalatose amine
C. L- fucose

D. Amylose

Choose the correct answer from the options given below:

1. B and C Only

]

. C and D Only
3. Aand B Only

4. A and C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212312956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Yad T & T 7. 3o TE AB H, UfAeH A & W1y SufRd fafr et §

A. D- TIeldeioT
B. N- THleSiddae ol TATS A
C.L- Bgbld
D. THIEAN
A feu e fadedl § O 8T 3R &l 994 DIl
. HadB AR C
. $Had € 3ARD
3. Had A 3R B

4. Had A 3R C

Options :
1.1
2.2
3.3
4.4

2

Question Number : 121 Question Id : 34212312957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the undermentioned glasses are not an example of soda lime glass:

A. Float glass

B. Leaded glass

C. Borosilicate glass
D. Tempered glass
E. Ceramic glass

Choose the correct answer from the options given below:

1. A and B only

[

. B and C Only
3. Cand D Only

4. B and E Only

Options :
1.1
2.2
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3.3
4.4

Question Number : 121 Question Id : 34212312957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafRad R # O &9 ¥ ST a3 o & 3aeIv el ¢

A. TRl WA

B. dog WY

C. dRIRIfeIde &g
D. 7S TN

E. R g

- U T faeel # 4 FT IR BT 907 BT
1. had A 3R B

HAd B 3R C

3.%ad C ARD

4. HIdB ARE

Options :
1.1
2.2
3.3
4.4

[

Question Number : 122 Question Id : 34212312958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is common between the two famous scientists: Henry A. Rowland and Albert Abraham
Michelson?

A. Both of them are American.

B. Both of them worked together.

C. Both worked in the field of physiology.

D. Both developed interface for coupling detector with LC.
E. Both of them are professor of physics.

Choose the correct answer from the options given below:

1. B and E Only
2. Aand E Only
3. Cand D Only

4. A and C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212312958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<l URTg SR ! B3I T, 3USI0S 3MR 3fcald ASIGH HIgh e & ald ol A (IHTME) &2

A. GH ARG |

B. &I 7 Ty & T

C. GHI IRR-FhAaa = & &3 | o fodi

D. Gl G & Tl & 1Y J & U 3<% 9o ¥d foa
E. &1 Hild®! & UHIR g

A1 ST U [qhedl § 9 a7 IR @l 999 BIIT;
|. Had B 3R E

2. Had A AR E
3. Hdd C 3R D
4. HAd AR C

Options :
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1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212312959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of these are true regarding high explosives?

A. They can not be further classified as primary, secondary or tertiary.
B. They require a shock to initiate their detonation.

C. They burn at a rate of less than 3000 feet per second (Fps)

D. They do not burn rather detonate and disintegrate at molecular level.

Choose the correct answer from the options given below:

1. Aand B Only

I

.B and C Only
3. Cand D Only

4. B and D Only
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212312959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3= f[dpled & G~ H &H I 9d g2

A. 3% 3 Uil | fgdiad SR Jeige o 9ifidd i fda o 9ahd]|

B. 3¢ UThIed & R & [T Uh UHTd Bl 3{agdhdl gldl g

C. d 3000 HIC Ufd YbhUS (fps) Bl & U HH TR Sdicid Bid g

D. d Sdd & I IR 9&d: EEHIed gid § 3R 3Nfide TR W faufed gl oiid €

i feu T fadetl 7 9 FT SR D1 99 BIfT:
1. ®dd A 3R B
2. HIAB AR C
3.%dd C AR D
4.%adB 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212312960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LIST I1
A statistical test used to decide whether an experimental value equals a
A | known or theoretical value or whether two or more expermmental values are [. |Ftest
wdentical with a given level of confidence.
B A statistical method that permats comparison of the vaniances of two sets of 1 Standard
" | measurements | deviation
C. | A measure of how closely replicate data cluster around the mean I1I. |Error
D. | The difference between an experimental measurement and its accepted value | IV. |t-test

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-II

t-2

. A-I, B-IV, C-III, D-II

3. A-L, B-1I, C-IIL, D-1V

4. A-1V, B-1, C-1II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212312960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

T = 1

T & Td Hed o I U8 FUiRa &3 & U ue g @ udiam

A |5 t® UEIfe 91 UH J1d S1Yal SGiidd A & a6 & AYaral a1 I |E-e%
Hf¥rh UrEifie A4 THEU §

& %mm@mﬁﬁfﬁ@rﬂmﬁ%dﬂﬂﬁﬁﬁﬁwaﬁwaﬁmﬁ ) T

C. |gR1ad Srel fhd-1 FAhe Ore & 9l SR T[f=5d 8id &, S9! A9 il i

D. |Ud UEiiie H1Y 3R 34 Widd HH & HEH Bl 3R IV |- ¢

AT fSU U fasedl § U Igt 3 &1 994 DIfoTu:

1. A-IV, B-1, C-II, D-II

I

. A-1, B-1V, C-1II, D-II
3. A-L, B-1I, C-III, D-IV
4. A-IV, B-1, C-II, D-III

Options :

1.1

2.2

3.3
4.4

Question Number : 125 Question Id : 34212312961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-I with List-IT The disguise can be expected whenever

LISTI

LISTII

The handwriting of the

1. |1s fabricated on a receipt or other similar document

annonvmous letter
The signature of a fictitious s —

i II. |1s copied in an endeavour to place the blame elsewhere
person

: for which the writer has no desire to have traced back to him
The signature of a actual person | III. P i

= by handwriting recognition
The handwriting of another < < : BT

= IV. | is carefully copied from a genuine signature

person

Choose the correct answer from the options given below:

1. A-IV, B-1I1, C-III, D-I

2. A-IL B-1V, C-1, D-IIT

3. A-III, B-1, C-1V, D-I1

4. A-L, B-1II, C-IL, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212312961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1D 1Y &I 11 DT e Hifoy

B dd] 1 312 Bl S bl © oid Y-
1 LEiRi
A | Fd um w1 gdcE I |t Tdie o1 34 UPR & Gadide TR ofal ai O3 &1 ofidl &
B. %ﬁ%ﬁ L SR 3R $el 3R ST & TOE 8 T6d [&d 9idl &
o |wIEfEaEs | |ue o deed o1 exicd S R SY 9@ a0 Ugd
B EESIER BEGEIFEIBEHEDI
i gﬁ@mﬁm IV. | Udh WIS E&1ER O YaUHIgde A o ol &
A feu U fadmedl § U Igt 39 &1 994 DISIU:

1. A-IV, B-11, C-III, D-1

2. AL B-1V, C-1, D-ITT

3. A-1II, B-1, C-1V, D-II

4. A-I, B-11I, C-II, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212312962 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI

Storage technology

LISTII
Example

A | Semi conductor | 1. | Super floppy
B. | Optical II. |Floppv

C. |Magnetic III. | CD

D. |Magneto optical | IV. | S5D

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. A-IV, B-III, C-11, D-1

3. A-III, B-1, C-1V, D-I1

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212312962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

i L1
A | 3g 9 (EHidbST) I | g g
B. |Uei¥® (sfifpwa) 0 Rviis]
C. |g=oE II. | st
D. | g O-USIAe (HUel-3vdmd) | IV. [ TqgEst

I feu 71U fash et § 9 T8t IR $1 994 HIfIT:
l. A-I, B-TI, C-IIL, D-IV
2. A-IV, B-III, C-IL, D-I
3. A-IIL B-1, C-IV, D-II

4. A-I1, B-1, C-1IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212312963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

coated with dinitrotoluol used to

LISTI LIST II

Y The speed of buming and strength of I Controls the initial burning and prevents absorption

" | black powder " | of moisture
B The choking effect of the barrel on the I |Recoil i >

" | speed of pellets depends on ’ e i s
C. The expanc_hng s et e paridps III. | is controlled by the size of granulation

case backward in the

D The dense powders used in cartridges 1s v The quantity of the ammunition, packing of the

ingredients of the cartridge and the wad design

Choose the correct answer from the options given below:

1. A-IV, B-11I, C-II, D-I
2. A-IIT, B-TIV, C-11, D-1
3. AL B-1, C-1IV, D-IIT

4. A-III, B-11, C-1, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212312963 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1P 1Y G 11 DT IdH i
a1 et I
A. | Bt i ot . (2 e e ol
B. | @Y1 Td U A1 @1 UeH YHTE R B g 1. |WidEg-Haied sfads
s m&mﬁﬁ—ﬁﬁﬁ 111 | SUPEE & @R Rl FHaEd e &
D |@Eer ¥ wgad we-gul. ot [ | 3T @A, Sifcs & Yaem! &1
Se-TEeleegiia ¥ Aftd foar ST &, &1 39anT TapH IR a1 (37°) DI Foumad

4 [GU U [a&edl § ¥ "ol 3R &1 994 DI

1. A-IV, B-111, C-1I, D-1

2

.A-IIL B-1V, C-11, D-1

3. A-1l, B-1, C-1V, D-III

4. A-IIL B-IL C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212312964 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

154/191



8/31/24,10:13 PM

Match the List-T with List-IT
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=

LISTI LISTII
Structure Name
COOH
OCOCH;
A I. | Saccharin
CO\
B. @ NH II. | Serotonin
'-'.ﬂ;/
CH,CHNH5
HO
c. [ s iif: [Benzoicacd
P
N
H
COOH
IV, | Aspirin

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III

f-2

. A-1, B-IV, C-I1, D-IIT
3. A-IV, B-1. C-1II, D-II

4. A-IV, B-11, C-1, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212312964 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

LIST I LIST II
AT AaH
COOH
0COCH; -
A L |[8dA
o
N\
B. NI I |9hdH
ﬂ'.n_,‘/
CHaCH,NH,
e 1L |d=algd 3
D V. | oA

AId feu T fadedl § 9 TgT 3R &1 999 DIfIT;
1. A-IV, B-1. C-II, D-III
2. A1 B-IV, C-II, D-TII
3. A-IV, B-1, C-III, D-I1

4. A-IV, B-II, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212312965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 156/191



8/31/24, 10:13 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Match the List-T with List-IT

LISTI LISTIO
Sanctuary State

Bharatpur Burd Sanctuary I. |Odisha
Chilika Lake Bird Sanctuary | II. | Uttrakhand

Chinnar Wild life Sanctuary | III. |Rajasthan
Govind Wild life Sanctuary | IV. |Kerala

olal|w|e

Choose the correct answer from the options given below:
1. A-III, B-IV. C-1, D-II
2. A-IL B-1V, C-II1, D-1
3. A-IL B-1, C-IV, D-II

4. A-1, B-1V, C-II, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212312965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy
1 A 1

faer sraRvg I
HIAQR UaiTagR I |33

FAfversdiauadifigr | 1 |STuEs
R g &g sivaRm | I | IeRE

Tifdwg 379 Sl HYIRUg | IV. |3

AT faU U fadhedl § U It 39 &1 994 DIIU:

1. A-IIT, B-IV, C-1, D-II

olo|w|»

2. A-IL B-1V, C-III, D-1
3. A-III, B-1, C-1V, D-I1

4. A-1, B-1V, C-11, D-LI

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212312966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

The combination of basic design of letters and the writing movement as :

A ; 1. |Hand lettering
taught in schools 7
The act of intermittently forcing the pen against the paper surface with —

E | - N Pl an pap II. | Writing system
increased pressure

C Any disconnected stvle of writing in which each letter is written 1 Holographic

" | separately " | docutment
D. | Any document completely written or signed by one person IV. |Pen emphasis

Choose the correct answer from the options given below:

1. A-III, B-1I, C-1, D-IV

2. AL B-IV, -1, D-II

3. A-IV, B-1, C-1II, D-II

4. A-1, B-1V, C-11, D-TII

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212312966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

T 1 g1
Aéﬂiﬁ%ﬁ@ﬁ@ﬁﬁﬁwﬂﬁmﬁﬁﬁ L | e orer
B. |9¢ T/ & Uy &l @I BFT &I Ude & [dS aH aa ol II. [oREd usfa
o | BB o e Jef oo Hd Sferk gue w U ffga g | o [Siaihe
g BEASICE
D. @2 +ft axdw Sif Ue cafdd g1 O fore T o e © V. | U Tepie
1 f3U U [qahedl § U T IR BT 994 DIfIL;

1. A-IIL, B-11, C-1, D-IV

[

. A-II, B-IV, C-1, D-IIT

LN

. A-IV, B-1, C-III. D-II

4. A-1, B-IV, C-II, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212312967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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C'Ha
(Ilw—(_H i

LISTI LISTII
O-H
CH, CH,

A | Polypropene I
B. |Polystyrens II.

CH,—C H "

C-:,Ha
C. |Polyvinyl Chloride | III.
I !7 —C H

D | Bakelite v

Choose the correct answer from the options given below:

1. A-IIT, B-1IV, C-II, D-I
2. A-IV, B-III, C-II, D-I
3. A-IV, B-III, C-1, D-II

4. A-1, B-11, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212312967 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy
a1 g1

O-H O-H
CH, CH,
A | UidudE L
n
Cl
B. |diciermeH II. |
CH,—CH /"
] CeHy
C. |didifeea ®Res | 1L |
CH, — CH n

CH;
D. |sdame IV, |
CH,— CH n

A TSU U [d& el § 9 FgT3wR &1 994 HIfU:

1. A-IIT, B-IV, C-II, D-1

2. A-IV, B-III, C-II, D-1

3. A-1IV, B-II1, C-1, D-II

4. A-I, B-11, C-IV, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212312968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

pressure rises enough to start the bullet from its seat 1s

LISTI LISTII
A Ihe efficiency of the shape of the projectile to overcome the air resistance, ol A
1s called =
The index of the ability of the projectile to overcome air-resistance is called | II. |Form-factor
The projectile changing their direction after striking the surface at the low Ballistic-
C. : I |
angles 1s called Coefficient
D. The interval from the impact on the primer of the cartridge until the i | Ricodket

Choose the correct answer from the options given below:

1. A-II, B-1II, C-IV, D-I

t-2

. A-1, B-1IV, C-I1, D-TIT

3. A-IV, B-1, C-1II, D-II

4. A-III, B-11, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212312968 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

1 g 1
A | T IRy ¥ IR UF & [0 0aU 31 1P d 3 s deardl L |dedeH- §50
B. |arg ufcRiY ¥ UR U &1 W& & &/l Bl Ydbid bedldl o II. | =0l
o ﬁaﬁm;wﬁmwmﬁ%muauﬁmmm . | srafe o
HIfco & UIZHER U YU I b2 Tiei! Bl 34! Ule U 3R B & fag  [raipe
P- | qait are @ 9o a0 @1 v o
1 fu T fadmedl O 9 WEt SR &I 99 BifoIL:

1. A-II, B-TII, C-IV, D-1

2. A-1. B-IV, C-II. D-TIT

3. A-IV, B-I. C-III, D-II

4. A-II1, B-IIL, C-IV, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212312969 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Name Alkaloid

A | Coniine I. |Solanaceons

B. | Atropine II. |Coca

C. |Hygrine III. |Hemlock

D. | Cochicine IV. | Meadow saffron

Choose the correct answer from the options given below:

1. A-1, B-IIL, C-IL, D-IV
2. AL B-1, C-I1, D-IV
3. A-III, B-1, C-1V, D-I1

4. A-I, B-II, C-IIL, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212312969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T 1
a1

T I

TEpATaS
A |BFEA I |grefg
B. |uerEA 1. |@lsT
c. |e=Ei= II1. | gl
D. |BifafA v, | et 3w

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-L, B-II, C-II, D-IV
2. AL B-1, C-I1, D-IV
3. A-III, B-1, C-1V, D-II

4. A-I, B-I1, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212312970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

0
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Match the List-T with List-IT

LISTI LISTII
A An el_ectn-:: current produced by oxadation/reduction processes in an N T
electrochemaical cell
An electrochemaical cell that provides energy during its operation [I. | Amperostat
C. |An instrument that maintaine a constant current in an electrochemical cell III. | Galvanic cell
B . . . | Faradaic
D. | Voltammetry with a dropping mercury electrode IV.
current

Choose the correct answer from the options given below:
1. A-IV. B-III. C-II, D-I
2. A-1, B-1I, C-IIL, D-1IV
3. A-IIL B-IV. C-I1, D-I

4. A-IV, B-111, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212312970 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

1

% ﬁag,ﬂwmm T HRADRY e wpanadl GRS fagqd | | S
U [qggauare Ud o Tiedl & G el 3uas Sdl & I |UFRREE
U 3UH0 ol [AegauemHd e | H0d YR §¢ W@dl & 1. | Teaf @ 9d

D. |Gt e ST & Wy deenid v [ RIS IAEEe

" U U f[ddedl § U I8t 3R 1 994 BIIT;

1. A-IV, B-1II, C-II, D-1

[

. A-1, B-11, C-ITI, D-IV

LN

CA-IIL B-IV., C-I1, D-1

4. A-IV, B-III, C-I, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212312971 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
A | Rotation in small circles forming a rosette pattern [. |Precession
B. | Wobbling or circular vawing in a spiral fashion around the center of mass | II. | Tumbling
C. |Forward rotation around the center of mass of the bullet I | Yaw
D. |Deviation of a bullet in its longitudinal axis from a straight line of flight | IV, | Nutation

Choose the correct answer from the options given below:
1. A-1, B-II, C-III, D-IV
2. A-IIT, B-IV, C-1, D-II
3. AL B-IIL C-IV, D-I

4. A-IV, B-1, C-1I, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212312971 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S WY &I 11 DT e Hifsy

& TEIUTRd & G H Fgfeiiad &1 fire &3
GGl g 1
A. |TTEEd UREU 941 §U BIC gl J UiF L |aprmH
& %o;i;?%&%?dlﬂ&ﬂqmmﬁﬁa@aﬁm&wm i |z
C. |7IIell o el HH B o IRI SAR3M gui B EEREAYEERT
D. | o eer e & e o e o e o (R

i feU TU fadh el § 9 T8T IR &1 T4 DIfIT;
1. AL, B-II, C-IIL, D-IV
2. A-IIL B-IV, C-1, D-II
3. A-IL, B-IIL, C-IV, D-I

4. A-IV, B-1, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212312972 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

Skull suture Feature

Squamosal I. | unites frontal bone with parietal bone
Coronal suture II. |unites the squamous portion of the temporal bone with the parietal bone

Sagittal suture III. | Unites the parietal bones with occipital bone

ola|w|

Lambdoid suture | IV, | unites the 2 parietal bones in the middle

Choose the correct answer from the options given below:
1. A-IL B-IIL. C-1, D-IV
2. A-IIL B-1, C-1IV, D-III
3. A-L, B-1II, C-IV, D-II

4. A-II, B-IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212312972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

e e A

BEGARSGE 1 | ol & uiferiey | eisdr g
HRATTET | 1L | S & uge YT &l Uiderey § Siear g
THEAr e | 1L | ey o uyeuaniy 9 Sisdl &
drSige! Uigd | IV. | & Ui aRygl Sl A Y Siedi 8

AT faU U fadhedl § U It 39 &1 994 DIIU:

1. A-II, B-IIL, C-1, D-IV

olo|w|»

2. A-1l, B-1, C-1V, D-III
3. A-1, B-III, C-1V, D-II

4. A-I1, B-1IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212312973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Paint Resins Uses
Amino resins I. |Lacquer coating for tools

Nitrocellulose resins | II. | Automotive thermosetting primer and corrosin protection

Epoxy resins III. | Asrcraft and automobile coating

olal|w|e

Polyurethane resins | IV | Crosslinking agent for baking enamels in kitchen appliances

Choose the correct answer from the options given below:
1. A-1, B-1I, C-1I1, D-IV
2. A-IIL, B-IV. C-I1, D-I
3. A-IV. B-1, C-II, D-III

4. A-II, B-III, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212312973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

Tedtor o
A |TEE G I | Sfi9R 8 a1 3 DI (HTET)
B. |AEcRega g 1L | s ynl AfET urEmR 3R SR qRaT
C. |guied I 1. | ORI 3R Sfiermargd Hife
D. |gidigRe I Iv. | fpdH TS H dfdhi 30" & foug srafdfen to=

AT faU U fadhedl § U It 39 &1 994 DIIU:

1. A-I, B-II, C-III, D-IV
2. A-IIT, B-TIV, C-11, D-1
3. A-IV, B-1, C-II, D-III

4. A-II, B-1II, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212312974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
A | Amiton I | A mixture of ammonium nitrate and fuel oil
B. |ANFO I1. | Anerve agent
C. |Chloroacetophenone | III. | A mixture of potassium nitrate, sulphur and charcoal
D. |Black powder IV. | Normally used as tear gas

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-IV, B-1, C-II, D-III
3. AL B-1, C-IV, D-IIT

4. A-III, B-1V, C-1, D-II
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Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212312974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1% 91y &I 1 D1 e Hifoe

gl I I
A |ufEEl 1 | SEiFas ArEde SR Wd g &l By
B |vuauwmat 1L |U& dfAdr @dd
C. |FIRTGEIEHA| 1L | TrelRmH AiEde, Geh 3R IRBI oI [0
D. |®rei-gul IV. | SR Y T8 & =0 F ggn
Td fU T fadedl O 9 WEt SR &I 994 DI

1. A-I B-IL, C-III, D-IV

f-2

. A-IV, B-1, C-II, D-III
3. A-Il, B-1, C-IV, D-III

4. A-II1, B-1V, C-1, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212312975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
Metallic Poison Atomic Number
A | Mercury I |84
B. |Polonium I |82
C. |Arsenic ITI. | 80
D. |Lead IV. |33

Choose the correct answer from the options given below:

1. A-II, B-1II, C-1IV, D-1I
2. A-1II, B-1, C-1V, D-I1
3. A1 B-II, CII, D-IV

4. A-IV, B-11, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212312975 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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B | e
A |HEH I |84
B. |Tm I |82
c. |smdf® IIL. | 80
D. |diE (@ Iv. |33
A1 feu 71U fash el § 9 T8t IR &1 994 HIfIT:

1. A-II, B-1II, C-IV, D-I

2. A-III, B-1, C-1IV, D-I1

3. A-L, B-II, C-III, D-IV

4. A-1V, B-11, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212312976 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
Test Body Fluid
A |TLC I | Colostrum
B. |Le2 II. |Semen
C. | Trypsin inhibitor | III. | Urea
D. |LDH, IV. | Saliva

Choose the correct answer from the options given below:

1. A-II1L, B-1, C-I1, D-IV

t-2

.A-L, B-1I, C-1IL D-1IV

3. A-IL B-IIL, C-1IV, D-1

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212312976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

u\gﬁl T
&7 RING T

A | ot L |UYA W@ @)
B. |Le? I |did
C. |fefte waRisid | 1L | gRan
D. |LDH, IV. |5R

A U U A edl § U I8t 3R 1 994 BIIU;

1. A-IIIL, B-1, C-II, D-IV

[

. A-1, B-11, C-III, D-IV

[F8]

. A-II, B-III, C-IV, D-1

4. A-III, B-1V, C-I, D-II

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 342123508
Question Shuffling Allowed : No

Question Id : 34212312977 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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A female was working in a Real Estate company, One day she visits her boss’s residence to
discuss about some official work. While discussion. the boss went to attend a call on landline in
another room. During this time, female employee went to the washroom and shot herself and fell
in the bath tub. On hearing the sound, boss rushes back to the room where they had discussion
but did not see anyone there. When he checked the washroom attached to this room. saw his
female employee lying in a pool of blood with the firearm in her grip. This boss immediately
called police who were on the spot within no time. Meanwhile police officer called forensic team.
both doctors from forensic medicine and forensic scientist’s from forensic science laboratory.
Both teams started their respective work to assist investigation. During search of the house and
investigation, it was made clear that the firearm used in this case was procured by the boss
legally. It seems this female was aware of this weapon.

The body of the deceased was sent for postmortem and FSL team continued to carry out scientific
investigation like fingerprint etc. but on advise of someone, this boss surrendered to the police
saving he has killed her employee. During postmortem it was revealed that this female was 3-
months pregnant.

Sub questions

Question Number : 141 Question Id : 34212312978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of these establishes the fact that weapon of offence was fired upon by victim itself

1. Presence of cartridge case at scene of occurance

t2

. Presence of GSR in victim's hand
3. Presence of weapon in victim's hand

4. Presence of gun shot wound on the body of the victim

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212312979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of these harmones confirms the pregnancy of a women?

l. Dehydroepiandrosterone
2. Estradiol
3. Human Chorionic Gonadotropin (heG)

4. Estrogen

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212312980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of these is the best way to prove the innocence of the suspect in such situation?

1. Fingerprint on land line phone
2. Fingerprint on the weapon of offence
3. Recording (details) of land line phone

4. The spreading of papers near the land line phone

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212312981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mention the best way to corelate the weapon of offence in such situations
1. Nature of injury
2. Length and width of injury
3. Colour of weapon

4. Age of injury

Options :
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1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212312982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of these is the best instrument to determine the psychotrophic druugs?

1. HPTLC
2. GC-FID
3. LCMS

4. NAA
Options :
1.1
2.2
3.3
4.4

Question Id : 34212312977 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Uch Afgell U RO & H-l § HIERd Ul $& SMiUDING D1l & favg 1 =< d3 & foau
dg Udh TG o0+ 919 & 3{1d19 TR Sl ] 99l & SR ol §F dUsdisd WR Udh &ld o &
foTu goR HHR 9 711 34l 9/ & SR, Higen HHf e § 1t Sk ¥9d & el AR 3R
qryed # R 1| 3i1arel gdx 99 39 R H €15 & 919y 311 $igl 351 9 & Ul iR
39 dgi Tt ot Ut 781 <1 9 39 34 B 9 9s A H O 61 3R 30! Jfga
HH DI G & dide H BRRSHE &l 39D Uhs H 8H & 1Y T3] g3l ¢|l| 39 &9 -
b Td g1 Uferd &l il bl Sii fa-1 Ty Tiard 9l 311 1Y) 241 did I SHiUaRl 4 GRS
&d, oy BRS Afsfyd O Siae 3R BRYS {99 YarRne ¥ 331d, giHf o, @
| €1 gdl 6 § 9grgdl & iU 30--3(09 S IRF BR 16U TR DI IRl 3R
Siid & R, T8 WY 8l T 4T fb 39 A H Ugad BIERH &I 919 gRT B! dR )
TR A1 T U1 Yciid 8id § o 39 Afgell &I giaR & 9k H Ud1 4]

Hadl & IRR DI I UYT TRI&0T o el Uel T 3R Uhuauadid H fhRfte ganfe S
RIS Sid-Ugdld AT 9RI T TR b4l &I Yellg R 39 919 - Ifeid I I8 Hgd g
SHTH-THYV R 1T b SU 31U+ HHl 1 5l D1 &) Gg-UHTq U1 U g e g3l b

ag Afgar 3 #gl- mHadr i

Sub questions
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Question Number : 141 Question Id : 34212312978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FETIRI & Y o1 29 o2 B R BT g fdb 3R1Y & GIYIR &l Gddl gRI1 WY R
ERIIRIGIR|

1. 9 R Blfco &Y &l Iuffd

2. Yl & g1y H SHUH3R &f Juffd

3. Jad! & 1Y H gIYAR I Iuffd

4. DT b IRR W 7iell & SeA Pi SURRURT

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212312979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad @ 9 & 91 g Wl & THddl g4 &1 giF Sar g2
i' ‘E- En g ~
2. TEISad

-~

3. §gFH DI THSICuA (TaEisl)
4. TS

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212312980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ﬁaﬁ%@aﬁrﬂ &I 91 39 UHR & RUfd J Tigry & RIS & g o Sl a9y
dRIdl g7

. AUSCE BiF IR fthRflie

2. 3R1Y & BRAR R fhRfTe

3. AUSARA B &I ReIS™ (fdavo)

4. AUSTTS B & U HITSH BT el gIFT

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212312981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%Wﬁf@lﬁtﬁ#ﬁﬂﬂ%g@ﬂﬁﬁ%ﬂ@@@ﬁﬁ%ﬂé%ﬂﬁ%ﬁm

1. &fd (die) Bt uPhfd

2. &fd (die) Bl dlg 3R dISls
3. BRAR BT

4. dIC B 3Y

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212312982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafead # ¥ & I 7. gHTdt Siiufey & (R0 &1 3SR 8
1. TaUICTgerdt

il uh et

3. UaHITHTY

4. 70T

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3

Sub-Section Id : 342123509
Question Shuffling Allowed : No

g

Question Id : 34212312983 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

A women went out of her Wedlock and moves to her mothers place along with her voung
daughter. This mother wanted to live a lavish life and was involved in other activities to earn lot
of money rather than taking good care of her yvoung/little daughter. One fine day, this mother
takes her daughter to the market and leaves her daughter near a goal-gappa stall, instructing that
she should not move unless she is back in 10-15 minutes. During this time strange female
approaches this little girl and takes her with herself on the pretext that the mother has send her to
pick her up. Then this little girl was confined to a room but given eatables regularly. Meantime
the mother and grandmother of this yvoung girl lodge a missing complaint in the nearest police
station. This little girl manages to escape from this place/room and runs towards the main road.,
screaming for her mother and grandmother.

The public present takes her to the local police station and finally handover her to the police
where missing complaint was lodge. There this little girl joins her mother and maternal
grandmother. Next day the grandmother hears/listen her daughter talking to someone on phone
and could make out that her daughter wants to sell this little girl so that she gets some money to
live lavishly. But grandmother objects to which this daughter gets angry and serves her lunch
laced with tranquilizer. She fells unconscious. After hospitalization for few days she recovers.
Finally after reaching home, grandmother asks her daughter about the whereabouts of her grand-
daughter to which her daughter shows her a bag full of money/cash and tells that she has sold her.
Grandmother gets angry and hit her daughter with hard object to which her daughter breathes her
last. Grandmother gest worried and with the help of her brother first dump the body in a
refrigeration unit of ice-cream stall and their after few davs throw this body in a secluded area.

Sub questions
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Question Number : 146 Question Id : 34212312984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which division of Forensic Science Laboratory should be involved to check the contents of food
stuft:

1. Serology
2. Toxicology
3. Biology

4. Photography

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212312985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Selling of child for the sake of money/asset falls under

. Gender abuse
2. Sexual abuse

3. Child abuse

4, Domestic abuse
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212312986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Rigor mortis is the sign after death, which ocurs due to one of the following:

1. Ceasation of blood circulation
2. Hydrolysis of tissues
3. Stiffening of body

4. Gradual decrease into body temperature

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212312987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Time since death in freezing bodyv can be determined by

1. Glaister equation

t2

. Cubic equation

L

. Exponential equation

4. Quadratic equation

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212312988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of these methods is most preferred confirmatory test to match the missing child with the
biological parents.

1. Blood grouping
2. HLA typing

3. DNA typing

4. Y-STR typing
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Options :
1.1
2.2
3.3
4.4

Question Id : 34212312983 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 34212312984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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aTe] UaTdl &l 9 ARl &1 Siid &34 H GRS G311 UARTRITE &1 i 9T f[aHET
M giHT ATigu?

L. IRA fa=
2. 3fay-faz=
3. Sifq faqm
4. BICTITH!

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212312985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o= &I U/ T & ferg d=e1 g & 3iavid 3 g2
1. el 3qremfed T
2. FI-T 0]
3. 91T Q90T
4. U QMNOT

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212312986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

L

Question Number : 149 Question Id : 34212312987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A= & URiad § 9 & €le I Adid 999 & (4] Y gRT {601 571 Ydbdl 8
1. TCIeeR HiHR0T
2. FrTcg SR
3. YTl g GHIDHR
4. fewrdrg gHIHRoT

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212312988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 191/191



